Mr. TOP GS Exams Sec3
Final Exam (2023 -2 23)

1. Choose the correct answer _from a, b, c or d:
1. Harm or injury that results or may result from some action or judgment is called .............. .

a) pride b) peace c) piracy d) prejudice

2. The teacher used to scold his students severely due to their behavior. The underlined word
“scold” can be replaced by ............... :

a) blame b) praise c) encourage d) force

3. He was so fortunate to have such wonderful teachers. The antonym of the underlined word
“fortunate” is ............... :

a) inevitable  b) unlucky  c) poor d) blessed

4. Rana started writing her ................ since she was young. She recorded all her daily
activities and feelings.

a) attitude b) biography c) dairy d) diary

5. She wasn’t chosen for the vacant position in the company as she wasn’t .......... enough.
a) awarded b) inquired c) qualified d) acquired

6. The series is very interesting, so the viewers are waiting with ................ to its end.
a) heavy breath b) bated breath c) breathless d) over breathing

7. We need to .............. some modifications for some pieces of furniture.

a) make b) do c) exert d) act

8. By this time next week, will .................. ?

a) we have got our house painted b) we paint our house

c) our house be painted d) be painting our house

9. The match was cancelled ................ heavy rain.

a) because b) owing to c) nevertheless d) in spite

10. Which of the following is structurally correct?

a) Were they to play well, they’d have won the match.
b) Had they played well, they’d have won the match.
c) If they play well, they’d win the match.

d) Should they play well, they’d have won the match.

11. She was proud ............... get the first prize.

a) on b) of c) to d) in

12. My parents never allow ............. to the cinema during exams.

a) go b) to go c) to going d) going

13. Having ................ , the criminal was sent to prison.

a) arresting b) being arrested c) been arrested d) arrested
14. She’s the woman ................. we have heard so much.

a) about whom b) for whose c) who d) whom
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15. Which one of the following sentences must end with an exclamation mark (!)?

a) What is your favourite view here b) What a lovely view you have here

c) How can you find this view d) How about finding a lovely view here

16. Supporting sentences are included in the ............... of the paragraph to reinforce the topic
sentence of the essay.

a) thesis b) introduction c) body d) summary

17. All of the following can be used to write an online profile EXCEPT................ .

a) previous work experience b) future dreams and ambitions

c) current achievements d) mutual friends and relatives

2. Read the following passage, then choose the correct answer:
Jennifer was thinking in her room. She wanted a shelter there since false gossip about her

began circulating at the academy last week. Not that Jennifer had ever been considered a
social butterfly. She preferred to live indirectly through the stories of her more unashamed
friends: late night celebrating, associating with girls, childish tricks.

Still, she had taken to be more by herself than usual since the accusations surfaced and that
thing made her on thin ice. She was up for consideration for the highly popular Blauvelt Award,
a scholarship recognizing “academic integrity and promise.”

A student had given headmaster Jack an anonymous “tip” that Jennifer had cheated on several
tests. The accusations were laughable. Jennifer had long been a clever student at the
academy. She lacked a natural intelligence- this was true.

However, she compensated for this shortage through carefulness and insistence; she was very
thorough in her studies and exhibited an almost relentless determination. Still, the accusations
had given the recommendation committee pause.

On Friday Jennifer had been called to Mr. Jack grand office, where she was asked copious
guestions about her recent exams. The experience was quite shocking. It was an elite school.
Most of its students came from honored backgrounds. This was not the case for Jennifer. Her
family had little money. She attended the school on a full scholarship. The Award would help
her family pay for college. So, it was with the same diligence which she applied to her studies
that Jennifer planned to reveal her accuser.

Choose the correct answer from a, b, ¢c or d:

18. The suitable title of the passage is ........ccccceeee.ee. :
a) “Struggling in life to reach your goals” b) “The School Award”
c) “Cheating at Exams” d) “Helping Other People”
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19. The Academy was a school ..................... :

a) where many kids lied and cheated b) for abused students

c) with many wealthy students d) where it was hard to get to know people

20. The best sentence that can summarize the second paragraph is that ........... :

a) Jennifer won the award b) strong determination can compensate many things
) accusing others can be destructive d) escaping from others is the best thing

21. The award is important to Jennifer because it will ....................

a) prove she is clever b) help her famlly pay for college

c) make her parents proud d) go travel away

22. Being a student at the academy, Jennifer needs to .....................

a) accept what is said about her b) get away from the other students

c) be persistent and has strong will d) be rich to stay at the school

23. If the students continue on accusing Jennifer of cheating, she will .............. .

a) insist on knowing the accuser b) hit the accuser

c) sleep more and more d) go on reading novels

24. Jennifer was different than many of her fellows as she ..................

a) likes to cheat at exams b) tells false gossip c) is not rellable d) is not wealthy
25. The underlined phrase “on thin ice” implies that Jennifer was ...............

a) over the moon b) relaxed and calm C) patient d)ina crltlcal situation

3. Read the following passage, then choose the correct answer:
About 349 million people across 79 countries are facing acute food insecurity — up from 287

million in 2021. The global community must not fail on its promise to end hunger and
malnutrition by 2030. Many innovations that were once heavily supported and publicized, such
as fish-protein concentrate and protein from algae grown on petroleum substrates, have fallen
by the wayside. The proposals themselves were technically feasible, but they proved to be
economically unviable and to yield food products culturally unacceptable to their consumers.
Recent innovations such as opaque-2 maize seems promising, but it is too early to predict its
ultimate fate.

Despite having extensive governmental support, these unsuccessful innovations often have not
been technologically adapted or culturally acceptable to the people for whom they had been
developed. A successful new technology, therefore, must fit the entire sociocultural system in
which it is to find a place. Security of crop yield, practicality of storage, taste and costs should
be put in consideration. For example, the better protein quality in bread made from opaque-2
maize will be of only limited benefit to a family on the margin of subsistence if the new maize is
not culturally acceptable or is more likely to be attacked by insects.

The adoption of new food technologies depends on more than these technical and cultural
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considerations; economic factors and governmental policies also strongly influence the ultimate

success of any innovation. Some economists exaggerate in claiming that profitability is the key
factor guiding technical change and disregard the substantial effects of culture. Most
technological innovations in agriculture can be fully used and adopted only by large
landowners in case they believe that the innovations will increase their incomes even if they
harm sectors of the population and reduce the availability of food in a country.

Choose the correct answer from a, b, c or d:

26. This passage deals with ................ .

a) the practical steps to have food alternatives easily

b) how to have healthy food from opque-2 maize

c) some solutions to the food shortage problem

d) the problem of food shortage in the developing countries

27. Any new crop needs mainly to be ................... to be a successful food alternative.
a) accepted by people b) grown by people c) technically adopted d) advertised in media
28. The best sentence that can summarize the last paragraphis ................... .

a) many new innovations can be adopted by both small and big landowners

b) some economists think that new adoptions should be adopted for people’s sake

c) there are many new solutions for food shortage that can be adopted

d) the adoption of new solutions depends mainly on financial profit

29. To ensure the success of the new innovation in the developing countries, ............... IS necessary.
a) building new organisations b) a wide advertising campaign
c) the governmental support d) ignoring the scientific research

30. After reading the passage, we can say that ................... :

a) we have some very successful innovations

b) we are still looking for new innovations

c) the developing countries' innovations must be applied

d) we don't have food shortage problem with the new innovations

31. According to the passage, opaque-2 maize .....................

a) is only suitable for the developed countries b) can only solve the world food shortage
c) has been adopted by many countries d) can be attacked by insects easily

32. The writer thinks that before the innovation of new crops, we should know that .............. .
a) both of the profitability and the cultural effect are very important

b) the profitability is the main key factor guiding the technological change

c) the new changes need the governmental support to the small landowners

d) the new innovations can be applied on condition that they don't harm people

33. According to the passage, fish-protein concentrate ..................

a) isn't supported by many governments b) is culturally accepted and supported
c) is an unsuccessful solution to food lack problem d) isn't healthy and causes many diseases
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4. Choose the correct Arabic translation from a, b, c or d:
34. Modern culture and civilization greatly depend on science and technology. They have become
an essential part of life according to the requirements of people and their needs.

A, o Oldlaied (289 8Ll oyo lwlal T camuol Aald o gl il pglall e S S dipad! Blase)l g 481831 ot
el 9

B. ool bl (adg 8Ll o Ll Tejr comuol Ul L aumr o) giSI) pgladl o S IS Lipoedl Adkall g A8LEI dasial
gl

C. ollaial (889 8Ll (p luslanl Tojr ool dtld L gl 9iST1 9 @lall e TS Tolatiel &)l 8)lasdl 9 481a) daiad
ezl g el

D. wldlaie) g el o Ll Tejr cmmuol 9l L o) 53S0 9 ol o TS Tolote) digusdl dsutall 9 38131 ot
elel s g ol

35. The importance of charitable organisations lies in helping poor and needy people. Charities do
an excellent job as they work all over the world.

A. st S 3 Jas Y Slias Jony sl Slonasd) pgiid . cprlizmall g shad)l Bucluns § dpsdl Olanll dnenl (685
NIW]

B. sl 5 3 Jand 1Y Slian Jamy dopsll olanazdl p9did . onzrlimall g 51801 Buclue (§ dupsd] Glnazll ploial (58
NIW]

C. sl 5 @ Jond Y Slioe Joms dopsdl olinanll pgdid .cpa iall 5 s,28)) Bdelune 3 Apsedl Olaosd! doal (a3
NIW]

D. sl S (3 ot LY lias Jany a3l Olemosl 05838 003 el 9 51,801 Bucluns (3 dopsdl olnall ploial (oS
NIW]

5. Choose the correct English translation from a, b, ¢ or d:

il pdaill g3 b g iy Oli e g bpde ) gal i) uosall (g (§ W godsiul ) ¢ Abla lhud el (o Lda)l elliay .36
4] (gl A

a) Many people have great disabilities. If we had used them in their proper place, our
homeland will have risen, and we will have moved towards the real progress that we
seek.

b) A lot of people have great abilities. If they had used them in their proper place,

our homeland would have risen, and we would have moved towards the real progress
that we seek.

c) Many people have great abilities. If we had used them in their write place, our
homeland would have stood, and we would have moved toward the real progress that
we seek.

d) A lot of people have great abilities. If they had used them in their proper place,

our land would have got up, and we would have moved toward the real progress that

Jie 35Ul HBII pe dsell Y gl gz ($I lguonis OF egekad dBlUall o Busdz yowe pokad U1 oo O9laxll Jgl e o .37
3589l pais e il &ldSy ! pulmd!
a) Countries must cooperate to evolve new images of energy. They must unit to find
solutions to reduce harmful effects such as global warning and overcome fuel
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shortage.

b) Countries must cooperate to evolve new forms of energy. They must unit to find
solutions to reduce harmful affects such as global warming and overcome fuel
shortage.

c) Countries need to cooperate to develop new images of energy. They must unite to
find solutions to reduce harmful defects such as global warning and overcome fuel
shortage.

d) Countries need to cooperate to develop new forms of energy. They must unite to
find solutions to reduce harmful effects such as global warming and overcome fuel
shortage.

6. Answer the following questions :

38- If Miss Havisham’s fiancé hadn’t deceived her, how do you think her life
would have been?  Support your answer with two justifications.

39- Pip and Magwitch proved that they had human feelings. Explain with evidence.

7. Write an essay of about 180 words on :
40- “Avisit to a place that you will never forget.”

Final Exam (2022 AU s2)

1. Choose the correct answer froma, b, cord:

1. Ahmad is always the only student ................ the best marks.

a. to get b. gets c. got d. has got

2. When the lady returned home, she realized her wallet ...........c...c....... .

a. was being lost b. had lost c. had been lost d. was losing
3.0NCE YOU....coevvreerereenene , you will play games with your friends.

a. had finished b. finished c. have finished d. will finish
4. My daughter was proud ...................... come first in the national poetry competition.

a.to b. of c. for d. by

5. There is an increase .........ccceeu... the number of homeless children around the world nowadays.
a.by b. at c. of d.in

6. Solar-......ccceeeueenene cars can be a future alternative to traditional ones.

a. powered b. powering C. powers d. power

7.1wish | .o, the meeting yesterday.

a. had attended b have attended. c. attend d. attended

8. Hunters are not out of ..................... woods yet.

a.a b.an c. the d. no article

9. You will make mistakes ..........cccu....... you follow the instructions.
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a. If b. unless c. without d. in case

10. Successful people who achieve their goals always .......... their time.

a. realize b. waste c. take d. manage

11. It takes a long time to walk to the top of the hill, butit's ............... the effort

a. worse b. worth c. worst d. worthy

12. The most recent major .................. was an explosion at an oil refinery.

a. occasion b. festival C. organization d. incident

13.Exams are not the only way to ........... students' skills. There are many other ways to evaluate them.
a. assist b. develop C. assess d. evolve

14. My brother procrastinated until the last minute and had to stay up to finish. The synonym of
procrastinate is ................. .

a. perform b. argue c. replace d. postpone

15. There are pre-war conflicts between the two countries. The prefix " pre-" means ................ .
a. at b. before Cc. against d. after

16. A ............... is a serious newspaper that is printed in large pieces of paper

a. broadsheet b. magazine d. broadcast d. tabloid

17." I needn't have bought" This means that | ......................... bread.

a. didn't buy b. had to buy c. mustn't buy d. regret buying

18. The sentence which attracts the readers' attention is called .................. :

a. resume b. hook c. conclusion d. thesis

19. "We are to meet to discuss your offer and the ways of payment". We can use this sentence in a/an
a. informal invitation b. business c. fact file d. recommendation letter
20.The people living next door are neighbourly. The word neighbourly is a- an ................. .

a. adjective b. adverb. C. verb d. noun

2. Read the following passage, then choose the correct answer:
The computer as well as the chainsaw is powerful tools. They are of great help. If

the chainsaw is misused, the person operating it might find himself missing a finger. But if
the computer is misused, it may lead to disasters. With it, teachers can enhance the
classroom experience in a variety of ways. But while the misuse of the computer will
probably not result in lost limbs like in chainsaw, there are other dangers that must be
considered when computers are brought into a classroom.

To investigate the way technology is currently being used in our schools, | recently

spoke with Mrs. Abeer, who informed me that computers, which are introduced into her
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classroom, have helped to increase students' motivation and prepare them for life in a

technological society. "These kids are probably going to be using some advanced
computer programs when they graduate from high school,” she noted. "It's important
that we provide a proper introduction about them in the classroom." she also observed
that the computers have made it easier to promote interdisciplinary learning, so that
students can work on a project or topic that relates to more than one subject faster.

With all of these benefits, come a few drawbacks. Mrs. Abeer also added that some
teachers think that using computers in the educational process is useless and others use
them in a way that makes students get easily distracted by the many temptations of the
internet, and that many students are quite adept at making it look as if they are doing
class work when they are really checking their emails or watching videos.

While surfing educational websites, video games may make students lose their
concentration. These diversions are rather benign in comparison to the other things

hiding in the corners of the World Wide Web.

Choose the correct answer from a, b, c or d:

21- Unless students were aware of the dark sides in the World Wide Web, they would ............ :
a) be successful b) achieve their goals c) suffer a lot d) lead a comfortable life
22- According to the passage, the ways that teachers apply to encourage students to use

the internet ................

a) vary from one school to another b) are the same at all schools

c) hinder students' understanding d) can protect students

23- Although using modern technology may cause some demerits, man will.............

a) try to find other alternatives b) stop using it c) claimitis dangerous  d) never do without it
24- Some students are experts at violating the classroom rules by ........................ :

a) surfing educational websites b) checking their emails

c) working on a project d) using advanced programs

25- While surfing the internet for studying, students could be ......... by video games.

a) concentrated b) addicted c) distracted d) focused

26- The improper use of the computer can cause ............... results in comparison to the chainsaw.
a) disastrious b) greedy c) favourable d) acceptable
27- People use some ................. like a chainsaw to accomplish their work.

a) devices b) systems c) methods d) tools

28- This passage is mainly about the .................
a) importance of chainsaw b) pros and cons of computers c) pros of chainsaw d) cons of computers
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3. Read the following passage, then choose the correct answer:
Although what we eat may cause serious problems, many people don't follow a

proper diet. A healthy diet with proper nutrition is essential for maintaining good overall
health. Since the discovery of vitamins earlier in the last century, people have routinely
been taking vitamin supplements for this purpose. The Recommended Dietary Allowance
(RDA) is a frequently used nutritional standard for maintaining optimal health. The RDA
specifies the recommended amount of a number of nutrients for people in different age
and sex groups. The National Research Council's Committee (NRCC) on Diet and Health
has proposed a definition of the RDA to be that amount of a nutrient which meets the
needs of 98% of the population.

The RDA approach is based on the assumption that it is possible to accurately
define nutritional requirements for a given group. However, individual nutritional
requirements can vary widely within each group. The efficiency with which a person
converts food intake into nutrients can also vary widely. Certain foods when eaten in
combination actually prevent the absorption of nutrients. For example, spinach combined
with milk reduces the amount of calcium available to the body from the milk. Also, the
RDA approach specifies a different dietary requirement for each age and sex, however, it
Is clearly unrealistic to expect a homemaker to prepare a different menu for each family
member. Still, although we cannot rely solely upon RDA to ensure our overall long-term

health, it can be a useful guide so long as its limitations are recognized.

Choose the correct answer from a, b, c or d:

29. Having spinach and milk in one meal ................... the amount of absorbed calcium in blood.
a) includes b) varies C) improves d) decreases

30- The required dietary for both genders is.........

a) fixed b) varied c) standard d) suspected

31- RDA is the .......... for the Recommended Dietary Allowance.

a) association b) organisation c) abbreviation d) appreciation

32- The author ......... people to have a healthy diet.

a) urges b) warns c) discourages d) exposes

33- Itis unrealistic for a homemaker to apply the RDA approach as ................... :
a) each member of a family likes special food.

b) it is not easy to prepare a different meal for each one.

c) each member of the family needs the same amount of a nutrient

d) all family members eat at the same time.
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34- Having a different menu for each age and sex is .............. :
a) impractical b) inadvisable c) harmful d) recommended

35- Vitamins were discovered in the ................. century.

a) twentieth b) nineteenth c) twenty first d) eighteenth

36- The central idea of the passage is .................. :

a) NRCC is a good guide to have good health b) taking vitamin supplements is necessary
c) RDA is a good guide to have good health d) RDA is a bad guide to have good health

4. Choose the correct Arabic translation from a, b, c or d:

37. Inorganic farming can be a solution to overcome the problem of food shortage.
a) sldal i ASaw e Cdasl) S aas Of (Sew digsaall dely3ll 3

b) sldadl_yad A e il S 01555 O (Son dugsaall dsl)3)l

c) Ml el A (e il S 0985 O (Sen iguanll pt delyll

d)  eldadl 330 A (o Judiidl) U s O (Sae doguaall dcly3ll 3

38. Young people must be armed with science and technology to achieve their ambitions.
a) pailgab i L gl giSillg @lall ol ey O oy

b) pellel Igaioed Lirg) 9:Sillg @halls el Sty O e

€) Mot 152l Lz o) 938y palalls Olutdl ey O o

d) pedaa Igixld LrglgiSilly polall Cledl iy Of o

5. Choose the correct English translation from a, b, c or d:

39. e Jgsamll 3 TS oueles (aladl o) du SUg . zpseill iy gads iy A g e Apmalondl iy (235 O Lasls @l O
daalodl (3 Joallg olygsSl

a) He always dreamed of completing his university degree to find an unreliable job after
graduation. But his love for science search helped him a lot to get a doctorate and work at
the university.

b) He always dreams of completing his faculty studies to find a reliable work after
graduation. But his love for science research helped him a lot to get a doctorate and work
at the university.

c) He always dreams of completing his university studies to find a reliable job after
graduation. But his love for scientific search helped him a lot to get a degree and work at
the university.

d) He always dreamed of completing his university studies to find a reliable job after
graduation. But his love for scientific research helped him a lot to get a doctorate and
work at the university.

40. ozl eVl by Agladl e Jguazdl § oY1 ol (U9 a9 @l (8 A glad (31 y9ul) ol oy padS L gals (528l OF
Ls"bﬁj‘ S9N LS“;)U dfi.i.]\j

a) Our highest ambition as Egyptians was to qualify for the next round of the African Cup

of Nations, but the hope to get the championship raised after the manly and honorable

performance of the players of the national team.
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b) Our greatest ambition as Egyptians was to qualify for the second round of the African

Cup of Nations, but the hope to get the championship increased after the manly and

honorable performance of the players of the national team.

c) Our greatest ambition as Egyptians was to go to the second round of the African Cup of

Nations, but the hope to get the championship decreased after the manly and honorable

performance of the players of the national team.

d) Our highest ambition as Egyptians was to satisfy for the second round of the African

Cup of Nations, but the hope to get the championship increased after the manly and honor
performance of the players of the national team.

6. Answer the following guestions :
41- In your opinion, should Pip have helped the convict? Why?

42- Do agree that Mr Joe played a role in changing Pip’s character? Why?

7. Write an essay of about 180 words on :
43- “Reading is the most important source of knowledge.”

Final Exam (2022 Js us?)

1. Choose the correct answer froma, b, cord:

1A ... well has been dug in the desert to provide people with water.

a. twenty-metres b. twenty-metre c. twenty metres’ d. twenty metre’s

2. Naguib Mahfouz was a pioneer in ............. Arabic literature.

a. no article b. the c.an d.a

3. It'stime we ............. our lessons.

a. study b. will study c. studying d. studied

4. Don’t argue ............ him. You can’t persuade him as he is stubborn.

a. for b. by c. with d. at

5. He will inform us of the new date after he ............ it.

a. knew b. knows c. will know d. had known

6. You will find ............ that you need on the top shelf.

a. whole b. either c. neither d. all

7. ceeewne.. Cars are cheaper than new ones.

a. Using b. Used c. Usage d. Use

8. The police said just now that the windows ................... before the thieves went into the building.
a. had been broken b. have been broken c. were being broken d. had broken

9. Don’t worry. Your phone ............. by tomorrow morning.

a. will have fixed b. is going to be fixed c. is going to fix d. will have been fixed

10. This myth is passed down from generation to generation. The antonym of myth is .................... .
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a. legend b. fact c. tale d. fairly

11. The old man was grumpy as he had missed the train. The word grumpy is close in meaning to ..... .
a. excited b. delayed C. curious d. furious

12. The rate at which goods are produced, and the amount produced, especially in

relation to the work time and money needed to produced them is called ............. .

a. productivity b. priority c. brainstorming d. progress

13. The youngest son usually has a special ............ in the heart of the family.

a. punishment b. place c. mark d. budget

14. We need to ............ a replacement for non-renewable energy as soon as possible.

a. make b. do c. find d. give

15. Unless a new ............ is found to control traffic, we will never find a solution to the dilemma.
a. curriculum b. respect c. approach d. altitude

16. Thereis NO ....ccccevecueennen.. of cancer but the symptoms can be managed.

a. cure b. treat c. heal d. way

17. Which of the following do you need to apply for a job.

a. Home address b. Biography c. Curriculum Vitae d. Autobiography

18. Which sentence must be ended with a full stop (.) ?

a. Why did you come late yesterday b. She wondered why | had hidden the documents
c. What a fashionable dress d. How great

19. Which sentence is incomplete?

a. The chef cooked lunch. b. The bus broke down.

c. Fortunately, he uninjured. d. The house collapsed.

20. In the ............ , Yyou can restate the introductory paragraph.

a. body b. conclusion c. thesis d. topic sentence

2. Read the following passage, then choose the correct answer:
In 1991, Charlie Chaplin, a penniless music-hall artist, left England for America.

His future was uncertain, but he believed it couldn’t be unhappier than his past. He had
grown up in the slums of London. His mother’s life was hard and got mad. His father died

of drink. His parents hoped to be stars. Their son was determined to succeed where they had failed.

By 1914 Chaplin was famous in America. He was the king of silent movies. How did he reach the
top of the film world? He began to develop the character of the tramp that is connected with his
name. He borrowed ideas from many sources. He used his bowler hat to signal secret messages
and his walking stick allowed him to cause confusion and punish his enemy from a distance. He got
the idea of his famous fat-footed walk from a London taxi driver who had sore feet.

Inside the tramp’s clothes, the audience saw a human being who was poor, but dreamt of being
rich. The audience would be moved by this, but before they had time to reach for their handkerchiefs,
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Charlie’s feet would get in the way and make them laugh instead. Charlie was the master of mime
and as an acrobat, he used to perform dangerous stunts. In 1919, he performed his film and want to
write about his experiences. In “The kid” Chaplin remembered his fear and unhappiness when
separated from his mother.

On a visit to Britain, the American government refused to give him re-entry visa and he
stayed in Switzerland. Aged 86, he went to Buckingham to be knighted by the queen.

Choose the correct answer from a, b, c or d:

21. According to the passage Charlie Chaplin was ............ :

a. dependent and satisfied with his life b. ashamed of himself and his works

c. determined and had a strong will d. unkind and ungrateful to his parents 30
22. Compare between the American government and the British government.

a. The American government allowed Charlie to be a comedian, but the British one stopped him
b. The American government refused to allow Charlie to be a star

c. The British government honoured Charlie but the American one didn’t

d. The American government knighted Charlie, but the British one neglected him

23. If Charlie hadn’t travelled to America, he ............ .

a. would have changed his career b. wouldn’t have gained fame

c. would have defeated his enemies d. wouldn’t have been poor

24. Infer what would have happened if Charlie Chaplin had come from a rich family.

a. He wouldn’t have imitated the taxi driver with sore feet.

b. The American government would have given him a re-entry visa.

c. He would have been suspected by his political beliefs.

d. He wouldn’t have struggled to be successful

25. How did Charlie Chaplin developed the idea of a tramp?

a. He set up his own film company and became a director.

b. He got ideas from many sources and used his hat to convey secret messages.

c. He remembered his sadness when he was separated from his mother.

d. He copied the London taxi driver sound feet.

26. The best sentence that can summarize the first paragraph is .............. :

a. The audience got bored of Chaplin

b. Charlie’s parents were very successful

c. Despite his poverty. Chaplin was keen on success

d. Charlie was the master of mime and made a fortune

27. According to the passage, Charlie Chaplin became famous as an actor in America .............. :

a. in many years b. at the age of eighty c. within few years d. after his death
28. The best subtitle for the passage .............. :
a. Charlie Chaplin and his fame b. Charlie Chaplin is an adventurous acrobat

c. The American government was unfair to Charlie  d. Charlie’s parents and their sufferings
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3. Read the following passage, then choose the correct answer:
In many countries, rivers that cause floods have to be controlled. There are many

ways of doing this including building walls along the sides of rivers so that they do not
flood even when the water level rises, | In some places, lakes are created next to rivers so
that, when the level rises, the water runs into the lakes instead of into the streets of towns
or cities, In other places, dams have been built to stop rivers flooding. The Aswan Dam is
a good example of this. It has saved Egypt from floods for years.

In London, the British capital, many areas are below the level of the Thames River,
which means that the city has to be protected from possible floods. To do this, a huge
metal wall called the Thames Barrier was built across the river. Usually this stays open
So boats can pass up the Thames to London or down the river to the sea. If the water in
the river rises to a dangerous level, the wall can be raised. Between 1982, when it was
finished, and 2009, the Thames Barrier was raised over 100 times. Venice in Italy has the
same control system.

We usually think of floods as bad and there are many examples of floods which have
destroyed towns, cities and farmland. But floods can also benefit people. In the past, for
example, Nile floods made agricultural land more fertile for farmers. The lack of rich mud
brought out by the floods has obliged the farmers to use increasing amounts of chemical
fertilisers and chemical insecticides which surely have bad effects on both people and the soil.

Choose the correct answer from a, b, ¢c or d:

29. Floods can benefit people by .............. :

a. destroying land  b. making agricultural land fertile c. being flown d. being in rivers
30. The Aswan Dam, as well as the Thames Barrier,isa ............. :

a. wall built across a river b. large lake next to a river

c. building for boats d. wall built next to a river

31. The central idea of this passage is “Floods are .............

a. always beneficial b. never harmful c. always harmful d. sometimes beneficial
32. With the existence of its barrier, the Thames is expected .............. :

a. destroy more fertile soil on its banks b. threaten the lives of many people

c. demolish its barrier soon d. rise many times in a few years

33. According to the passage, walls are sometimes built along the sides of rivers to ............ :
a. stop people from falling in b. collect rain

c. keep water out of the river d. keep water in the river

34. The need for building dams will increase in the future because of the .............. :

a. boats in the oceans b. walls along the sides of river

c. floods of the rivers d. Thames Barrier
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35. The Thames Barrier Is raised when .............. )

a. the water level is low b. ships are sailing along the Nile

c. the water level is high d. it rains heavily

36. The Aswan Dam was mentioned in the text to ............. :

a. emphasize the importance of building dams b. show how dams tackle the problem of draught
c. Prove that Egypt was able build dams d. help prevent the sea levels from rising

4. Choose the correct Arabic translation from a, b, c or d:

37. Magdi Yacoub, the legendary heart transplant surgeon, has been awarded many
prizes locally and globally.

a. Lalle 5 Llae 53 sal) (e daal) Gginy s (5 shansd) i) =)y s a8

b. Lalle 5 Lin sl (e maall = sitall QS =) o sy (s230 mih

C. Lialle 5 Llaa cLda3U 33l sal) (g sl (g sl QB =1 s o sy (g0 xia i)

d. Galle 5 Llaa Gy shans) QBN al jad 531 sall (e dpaal) Cghay (330 mia

38. Unity and cooperation are the necessary qualities which we need to succeed in our
national projects.

a. dxa 98l Lileg e (§ zlonill Lagarbizes QLI Olinyg pall Olisall lads d>-gllg (glasd!

b. &gl Lileg ue 3 zlmill Lagarlioes QLI Olinyg pall Olisall Lad Bagllg 39l

C. ddgdl Lileg un (3 7lowdd Lagarlios QLI Ol g 2l Gliasall e slxilg Ggladl

d. deogall Uleg o (3 zlauil) lagarlizs Gl Oliyg ! Ol s slosYlg Ggla]

5. Choose the correct English translation from a, b, c or d:

39. 13 Ol s Ldiasd oS0 clgiadyl ol Lghidl 8Ll L] Byl 9 Lo 9l ¢l 195 Balaww gl ligaso 093 Tl @895 Y
A. Don’t expect success without hardships, happiness with pain or Winning Without loss: it

was life, Take it or leave it, but to live, you should understand it.

B. Don’t expect success without hardships, happiness without pain or winning without loss;

it's life. Take it or leave it, but to live it, you should understand it.

C. Don’t expect success without hardships or happiness with pain or winning without lose,

it's life. Take it or live it, but to live it, you should have understood it.

D. Don’t expect success without hardships or happiness without pain and winning without

loss:! It's life, take it or leave it. But, to live it, you should understood it.

40. lalas Giia 385 2L Y1 o8 Azl )l & il 5 oLl A4S jlie cadla 3 Ll o ol a1 5 Al sgll (5 sie o Al daly )l & la
BN

A. Woman’s sports have developing in amateur and professional level internationally,

participation of women and girls in sport increased these days and they achieved great success.

B. Female sports have developing for amateur and professional levels internationally. So
participating women and girls in sports increased those days to achieve great success.

C. Female sports developed for amateur and professional level internationally, So

participating women and girls in sports has increased today so that they will achieve great success.
D. Women'’s sports have developed in amateur and professional levels internationally;

participation of women and girls in sports has increased these days and they achieved great success

Mr. Mohamed Emeesh 15 T“ytmmggiﬁﬂw



https://ktabyeg.com

Mr. TOP GS Exams Sec3
6. Answer the following questions :
41- Joe helped Pip a lot. Why do you think he did that?

42- Magwich changed Pip's life. Do you agree? Why ? why not?

7. Write an essay of about 180 words on :
43- “Technology is a double edged weapon.”

Final Exam (2021 A% _32)

1. Choose the correct answer froma, b, c ord:

1. Many companies couldn’t be ......... financially for their losses during the Coronavirus pandemic.
a. communicated b. compensated c. contained d. continued

2. The writer revised what he ........... before it was published.

a. has written b. was written c. had written d. is writting

3. The manager used to encourage his workers so as not to let their .................. levels decline.

a. necessity b. productivity c. facility d. equality

4. While .............. home, the car’s tyre burst.

a. lam driving b. | was driving c. driven d. drove

5. On the whole, | think that technology is a double-edged weapon. "On the whole" is similar in
meaning to ".......cccceeenens ",

on purpose b. on duty c.in general d.in particular

6. Can you give me .............. books on the shelf over there?

a. these b. that c. this d. those

7. We should always preserve our culture and national .................... .

a. necessity b. identity Cc. quantity d. availability

8. Mr. Hani, ....cccueuueeee. teaches us English, is always helpful.

a. who b. whose c. that d. whom

S T , she found her lost mobile phone under the table.

a. Surprised b. Surprise c. Surprising d. Surprisingly

10. She hasn’t decided where ................... her next holiday.

a. to spend b. to spending c. spent d. spends

11. The traffic was heavy and we moved ............... slowly that | wished | had left the car home.
a. such b. too C. SO d. enough

12. After the car ....................., we will travel at once.

a. had been repaired b. has been repaired c. had repaired d. has repaired
13. Have you ever .......cceeveeunee.. someone to clean your flat?

a. had b. made c. done d. got

14. Before entering your flat, take ........cccueuu....... your shoes.
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a. off b. for c.on d. with
15. Academic qualifications and foreign languages are a sort of ................ skills.
a) soft b) hard c) personal d) computing

16. Which sentence is structured correctly?

a) Everyone has attended the meeting, hasn't he? b) Everyone have attended the meeting, haven't they?
c) Everyone have attended the meeting, hasn't she? d) Everyone has attended the meeting, haven't they?
17. The topic sentence is included in the ...................... of the essay.

a) body b) conclusion c) introduction d) supporting sentence

2. Read the following passage, then choose the correct answer:

Do you know that saving energy means saving money? Homeowners and renters know this basic
fact, but they often don't know what kinds of adjustments they can make in their homes and
apartments that will result in savings. For those willing to spend some time and money to reap long-
term energy savings, an energy audit is the way to go. An energy auditor will come into your home
and assess its energy efficiency. The auditor will pinpoint areas of your home that use the most
energy and offer solutions to lower your energy use and cost. Trained energy auditors know what to
look for and can locate a variety of flaws that may be resulting in energy inefficiency, including
inadequate insulation, construction flaws, and uneven heat distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is to
replace incandescent lights with fluorescents. This can result in a saving of more than 50% on your
monthly lighting costs.

When it's time to replace old appliances, it's wise to spend a bit more for an energy-efficient model,
and be sure that you are taking advantage of energy-saving settings already on your current
refrigerator, dishwasher, washing machine, or dryer. Windows provide another opportunity to cut
down your energy cost. Caulk old windows that might be leaky to prevent drafts and choose double-
paned windows if you're building an addition or replacing old windows. Most areas of your home or
apartment offer opportunities to save energy and money. The results are significant and well worth
the effort.

Choose the correct answer from a, b, ¢c or d:

18. What would happen if we used inefficient appliances? We would ................ .

a. reduce our monthly lighting costs b. decrease our opportunity to cut our energy costs
c. reduce our opportunity to cut our energy costs d. increase our monthly lighting costs.

19. To sum up this passage, we can say saving energy ..................... :

a. wastes money b. costs money C. means saving money d. decreases money

20. Mention the difference between using incandescent lights and florescent lights.

a. Florescent lights save energy and money. b. Florescent lights increase energy and money.

c. Incandescent lights save energy and money. d. Incandescent lights decrease energy and money.
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21. Which of the following is a true statement?

a. We can't save energy without the help of the energy auditor.

b. We can save energy if the energy auditor doesn't help us.

c. We can save energy with the help of the energy auditor.

d. We can't save energy with the help of the energy auditor.

22. According to the passage, the energy auditor's advice will help homeowners and renters to ...... .
a. waste energy and money b. use more energy and less money

c. use less energy and more money d. save energy and money

23. Which of the following can best express the main idea of this passage?

a. Hiring an auditor will save money. b. The best ways to save energy.

c. Replacing windows and light bulbs are well worth the effort and cost.

d. Homeowners and renters don't know what to do to save energy and money.

24. Double-paned windows could ....................... .

a. increase heating expenses b. provide efficient energy

c. only be used in new additions to homes d. only be used as replacement windows
25. According to the passage, an energy auditor doesn't ................ .

a. fix inefficient appliances b. check for construction flaws

c. look for problems with heat distribution d. offer solutions to lower your energy costs

3. Read the following passage, then choose the correct answer:

For two months, | have been trying to decide who makes the best ice cream. | have narrowed it
down to my four favorite manufacturers: Randolph Farms, Goodies, Disco and Twinkle.

Randolph Farms makes very good ice cream with all natural ingredients. They have lots of
different flavors. | always get coffee flavor. They make the best coffee ice cream in the world. I've
never had hot coffee but people say their coffee ice cream tastes just like the real thing.

Goodies makes excellent ice cream. Like Randolph Farms, Goodies uses all natural ingredients.
They only make three different flavors, strawberry, vanilla, and chocolate. The strawberry is amazing.
The vanilla is wonderful. It is very smooth and has a refreshing, creamy taste. The chocolate is
outstanding. It is made with real cocoa beans. from Bolivia. | didn't know where Bolivia is. So, |
decided to look for it on a map. After hunting a while, | discovered that it is on South America. That's
a long way to go to get cocoa, so it must be good. | would say that the only drawback to Goodies ice
cream is that they only make three different flavors.

Disco ice cream is okay. They don't have many good flavors. Actually, the only Disco flavor | like is
Bubblegum. It is vanilla ice cream with little chunks of bubblegum in it. After you eat the ice cream,
you can blow bubbles with the gum. That's pretty fun.

Twinkle ice cream is mediocre. The only good thing about Twinkle is that it is relatively inexpensive.
You can buy a whole carton of twinkle ice cream for LE 50. That's only two weeks' allowance for me.
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Choose the correct answer from a, b, c or d:

26. If the author wanted to get a scoop of coffee ice cream, where would he or she probably go?
TO o :

a. Goodies b. Disco c. Twinkle d. Randolph farms

27. If you were concerned about Goodies, which of the following would make you prefer them?
a. costs b. flavors c. long distances d. good services

28. If a big number of customers care for the price? Which manufacture will increase the profit?
a. Twinkle. b. Disco. c. Goodies. d. Randolph.

29. The author writes, "That's a long way to get cocoa, so it must be good." Using this information,
we can understand that the author believes that .............ccc....e..... :

a. Bolivia makes the best cocoa in the world  b. Goodies loses money sales of chocolate ice cream
c. things that are hard to get must be of high quality d. Cocoa from the United States is not very good
30. According to the passage, if Goodies makes more flavors, they will sell ............. ice cream.
a. less b. more c. little d. no

31. According to the passage, how is Randolph Farms ice cream different from Goodies?

a. Randolph Farms has many different flavors but Goodies doesn't.

b. Randolph Farms uses all natural ingredients but Goodies doesn't.

c. Randolph Farms is very expensive but Goodies doesn't.

d. Goodies brings cocoa from the United States.

32. Which of the following would be the suitable title for the passage?

a. Strawberry, vanilla, chocolate and bubblegum too!

b. The four top ice cream manufacturers in the world.

c. The finest ice cream in the world.

d. Picking the best ice cream manufacturer.

33. According to the passage, what is the only drawback of Goodies ice cream?

a. cheap ingredients. b. expensive price.  c. mediocre quality. d. lack of flavors.

4. Choose the correct Arabic translation from a, b, c or d:

34. Livelihood is not merely money, but it can be in health and peace of mind.

a. db D)9 M Lo OF eladad Jladl 1Ml domals oo Jaadl Aadlasg Al b o)

b. JWI d=lyg duall 3 0950 OF oSas Ginall dew 5805 cJoll Jad (p Sl

¢ JWIdslyg dvall § 0555 O oS WSy clo 3520 o) Bl

d. JWI d>)yg donall W cdze A1 948 Sl 09 ioall Jow Y

35. Exhaust fumes can damage not only our health, but also the environment.

a) 4 Lol oSU5 cdomsall Jasd (ud peud OF hluad) polgal oS

b) dnud Lasl )9 cJad dowiall 305 8,580 Sy

€) Audl doall o5 OF 8,580 S

d) Al doue peds poladl 85y (Say

5. Choose the correct English translation from a, b, c or d:

36 owibolgall gracsd sl Gl lisY 49 g L8] e elhal bo S dogSdl (g

a. The government, with all its capabilities, seeks to safe the necessary needs for all citizens.
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b. The government, with all their capabilities, exert great efforts to save the basic needs for all citizens.

c. The government, with all their abilities, do their best to save the necessary needs for all citizens.

d. The government, with all its abilities, does its best to provide the basic needs for all citizens.

37 A4S laip oo ladly 0950 ledie Ja5 OlusYl delie 0 slodall CaisS|

a. The scientists discovered that man's immunity decreases when he is under strong stresses.
b. Scientists discovered that man's immunity decreases when he is under strong stress.

c. Scientists discovered that man's immunity declines when we are under big stress.

d. The scientists discovered that immunity declines when we are under a large stress.

6. Answer the following guestions :
38- In your opinion, what the greatest expectation that Pip had? Why?

39- Do you feel sorry for Miss Havisham despite her attitude towards Pip? Why?

7. Write an essay of about 180 words on :
40- “The positive effect of modern technology on our lives.”

Final Exam (2021 ;< J3 L39)

1. Choose the correct answer froma, b, c ord:

1.A.... newspaper is a more formal newspaper with large pages.

(@) tabloid ( poster © blog (d broadsheet

2. No sooner ............ the medicine than he left.

@ has he taken ® he took (© had he taken (d he had taken

3. Try to avoid ......ccveeueeeenne when writing a news story.

a. pride b. prejudice C. justice d. conscience

4. Notonly ....cccuueeeneneee. the reports, but he also leaked them to the press.

@ he had stolen ® did he steal (© he hasstolen (@ does he steal

5. He hesitated and ............... for weeks before finally telling her he wanted to end their relationship.
a. believed b. procrastinated c. caused d. hurried

6. The government aims at setting up ............ European university in the new capital.

@ a ® an ©) the @ no article

7.Don't e, the opportunity to share in helping people as long as you can do this.
a. miss b. have c. keep d. get

8. The money .....cccccevvveueeeene in the robbery was never found.

@ are stolen ® stolen (© stealing (d which stole

9. Taher has the ability to speak more than three languages; he is .................. .
a. bilingual b. monolingual c. multilingual d. national

Mr. Mohamed Emeesh 20 T“ytmmggiﬁﬂw



https://ktabyeg.com

Mr. TOP GS Exams Sec3

10, i, his own company, he took on many workers.

@ Finding (o) Founded (© Found (@ Founding

i 5 R | that Sara will break the record.

@ is believed ® believed (© believes @ has believed
12. After my sister had graduated, she looked ............ a job.

@ up () for © at @ after

13. 1 got a plumber ............ the pipe.

@ fixes © fix © fixed @ to fix

14. The dogs barked on seeing ............ on water.

@ themselves ® herself © himself @ itself

15. Which sentence is structured correctly?
(@ Amir, who's the half defender, score the winning goal.
(o Amir, whose the half defender, scored the winning goal.
(© Amir, who is the half defender, score the winning goal.
(d Amir, who's the half defender, scored the winning goal.
16. The following line can be put in the .................... of a CV. "l enjoy meeting people from
other countries. | have travelled to Europe and Australia".
(@ education (® hard skills (© interests (@ work experience
19. Which sentence is punctuated correctly?
(@ Be quiet, please. () Be quiet please  (© Be quiet please. (@ be quiet, please
2. Read the following passage, then choose the correct answer:
What sort of food are we likely to be eating in the year 2030? Most people, when you ask them a
guestion like that, either say: "There won't be any left," or: "Whatever it is, there won't be much taste

in it". Of course, there are good reasons for being pessimistic about the world's food supplies in the
future.

Nevertheless, not all the experts share the general despondency. For one thing, although the
world's population is rising fast, food production is keeping pace with it, even in developing countries.
It is therefore argued that the main reason why people are hungry is not that there is a world food
shortage but that methods of cultivation are not sufficiently advanced in some areas and the food is
not fairly distributed to all those that need it.

Moreover, in most industrial countries, one important cause of trouble is our conservative
preference for meat. After all, we are already for a situation where we feed animals with grain to
produce high-quality beef, even though the grain would feed the human population.

By the time, our grandchildren have grown up, it seems likely that many of these problems wiill
have resolved. Scientists are already capable of constructing steaks from vegetable ingredients like
Soya beans. However skeptical we may be about their claim that they can reproduce the substance,
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taste and colour of meat by these means, the fact is that the most common complaint about such

"steaks" is that we will no doubt have discovered a way of including artificial bones, skin and fat!

Choose the correct answer from a, b, c or d:

18. The main idea of the passage is ................... :
(@ the advantages of eating soya beans ( the causes of food shortage and its solutions
(© the distribution of food (@ population increasing all over the world

19. According to the passage, using vegetable ingredients is one of the methods to
overcome the shortage of ............ :

@ protein © fats (© vitamins (@ calcium

20. Which sentence of the following can best summarise the last paragraph?

(@ Soya beans can change the taste of meat (® Soya beans, steak and food ingredients
(© Beans, fats and skin (@ Soya beans as a replacement of meat
21. There won't be food shortage in the future if the food is ............ :

@ fairly distributed ® unfairly distributed © of high quality @ of low quality
22. The problem of food can be solved ifwe ...................... .

@ use the internet and mass media ( use advanced methods of cultivation
(© use more water from the sea @ purify the river water

23. According to the passage, our diet may be ............ in the future.

@ the same @ difficult © different @ traditional

24. We feed animals on grain to produce ............ :

@ high quantity beef ( fat and food supplies  (© skin and vegetables (@ high quality beef
25. According to the passage, food production is growing ............ the population.

@ as slow as [ as fast as (© faster than @ slower than

3. Read the following passage, then choose the correct answer:

Basel Rashid, who was a famous detective, working for businessmen to protect them and solve
mysteries related to their work, had finished working on a crime in Aswan and was about to go home
on the Spanish Train. When Basel got on the train, he noticed that it was unusually full for the time of
year. Soon after the train had left Aswan, a wealthy businessman, Mr. Mourad, asked Basel to
protect him because he believed his life was in danger. Although Mourad offered Basel a lot of
money to do this, the detective did not believe the man's story and refused to help him.

During the night, the train had to stop because of heavy rain. The next morning, Mourad was found
dead: he had been murdered. Had someone got on the train and killed him. Now Basel believed
Mourad's story and, together with a doctor, who was also on the train, he started work to solve the
crime. The two men soon discovered that Mourad had a secret identity. He was not a businessman,
but a criminal who was hated by many people.

After examining the train and Mourad's body, Basel realised that the man had almost certainly been
murdered by one of the 13 people from the same part of the train as Mourad. This meant that there
were 13 suspects. One by one, Basel discovered that these 13 people all had a good reason to hate
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Mourad. Together, they had carefully planned what they were going to do and had all taken part in

the murder. This was why the Spanish Train had been so full on that journey.

Choose the correct answer from a, b, c or d:

26. The sentence that can summarise the fourth paragraph ............ .
@ identifying who Mr. Mourad really was and his real job.

(o protecting the other passengers from the murderers.

(© discovering Mourad's secret passport and his work as a spy.

@ finding out Mourad was wrong when he asked the detective's help.
27. Basel didn't want to help Mr. Mourad ............ :

@ to take part in his murder ( as he was the murderer

(© to kill the other criminals @ as he thought he was a liar

28. Basel found out there were 13 suspects because ............

@ Murad told him while dying ® he checked their |dent|t|es

(© he knew they hated Murad (@ the doctor told him so

29. Although Basel refused to help Mr. Mourad, he ............ .

(@ was right not to help r. Mourad ® helped the doctor to reach the truth

(© suspected few of the passengers @ regretted helping Mr. Mourad
30. The central idea of the storyis " ............ "
@ Criminals would help to protect each other. @ Crime would be committed by the help of the police.

(© Criminals always face their fears of the death. (@ The Spanish train mysterious crime.
31. Mourad though he was certainly in danger, so ............
@ he was suffering from heart problems ® he asked Basel for help

(© the detective warned him not to take the train (@ The doctor had examined him the day before
32. Baselwas in Aswan ............

@ because he worked as a pollceman there ( because he was on a secret mission
(© to investigate Mourad's murder @ to arrest people who killed

33. According to the passage, one must ............ the others when they ask.

@ help © ignore (© encourage @ defeat

4. Choose the correct Arabic translation from a, b, c or d:

34. A civilized Society should treat its elderly members well even if it is multicultural.
a) Sl sdaie gaize OF §) (> Bazr Aslas cruadl YIS Jolay OF ddde (i piasiall paizmall

b) Ll skaia 08 5) o ke iy sloddl sliaedl dlalsd (3 (£l Of s _pamioll gaional

€) Sl sdad ) e MULS@\» Of_pasiall aaizall (de oy

d) Bl sasie OF o) G Buuz Aolas (] Hliuo ae Jolaiy O dake oy (U1 92 _piasiall maimall

35. One of the current reform programmes is to stimulate investment in the industrial sector.
a) (Fluall gladll 3 Lt aos ddld! 2ol el do

b) deluall Jlre & sl passs ddlodl il alys df

c) luall Jlrall @ laiwdl 8L Al ZDLoY golys A

d) (luall Jlxall (3 leiidl a5 ddledl el olys do
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5. Choose the correct English translation from a, b, c or d:

36 Bolaud) o L5l paolised 8,08l e egizen S las (sl CSSy

(@ Some people make a big mistake by looking for fame because they think that it is the cause of
happiness.

(® Some people commit a big mistake by looking up fame, thinking that it is the cause of happiness.
(© Some people made a big mistake by looking for fame because they think that it is the cause of
happiness.

(@ Some people commit big mistake by looking for fame thinking that it is the cause of happiness.

37 A bl Jabisd 8yauall HBYL Oletdl pgihs 1904y O gl & fune L)

(@ Parents are responsible for making the youth unaware of the destructive effects of eating killing
drugs.

@® It's the parents' responsibility to make the youth aware of the destructive effects of taking killing
drugs.

© It's the parents' irresponsibility to lighten the youth of the destructive effects of taking killing drugs.
(@ Parents are responsible for making their children unaware of the destructive effects of eating
killing drugs.

6. Answer the following guestions :

38- Do you think Pip was right to feel sorry for that convict? Why?

39- “l didn’t want to look after you! It's bad enough being a blacksmith’s wife”.
What did these words reflect about Mrs Joe’s character?

7. Write an essay of about 180 words on :
40- ““How to avoid burnout.”

Final Exam (2021 ;= J9 _34)

1. Choose the correct answer froma, b, c or d:

1. The number of .........ccceuuu.e. is terrible; it was a very terrible accident.

a. utilities b. capacities c. qualities d. casualties
2. Having ....ccoovveeccineee, , he was sent to prison.

@ been arrested () arrested (© had arrested (@ arresting
3.Some people find it strange to ........c.c......... a virtual meeting; they prefer face-to-face contact.
a. leave b. go C. join d. enrol

4.1f he ......c.cceceeeeueeneeee. his money well, he would have a fortune.

@ had invested ® has invested © invests ) invested

5. My grandfather ........cccueue. the village house since his retired.

a. has owned b. is owning c. has been owning d. had owned
6. My name is Hamza and ..........ccccceueeueee. is my sister, Ola.
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@) this ® that ©) these d those

7. My mother always motivates me to achieve more success. “Motivate” here is a synonym for”“.......... .

a. force b. refuse C. inspire d. repress

8. That cake was ......ccccveevveunnee. . I'llhave another one.

@ such nice that @ suchanicethat  (©sonicethat  (d enough nice that
9. It’s a mistake to think of Egypt only in .......... of its tourist attractions; it is a source of pride in
different fields.

a. terms b. contact c. fact d. advance

10. Meat- .........uue. animals are called carnivores.

(@ eating b eaten (©) eater d eat

11. How will you decide what career .......... to take?

a. decision b. section c. direction d. reflection

12. Isthere ....oceeeveveennenns university in this town?

@ an ® the ©a @ no article

13. /M e up with my daily routine; | hope to change it.

a. made b. set c. brought d. fed

14. The new project ......cccecvvvveveennenee. by the end of the year.

@ is opened ( has been opened  (© will be opened (@ will have been opened
15. Which of the following sentences is correctly structured?

@ Finally, the problem was solving. () Finally, the problem was being solved.
(© Finally, the problem was solved. (@ Finally, the problem had solved.

16. "Let's go to the club." This sentence is a kind of a/an ......c.c.cvcune.. .

@) offer ® request (© suggestion (d order

17. The introduction of the essay is included in the ...........c.uc.......... paragraph.

@ first () second © ending (d middle

2. Read the following passage, then choose the correct answer:
It is thought that tigers and sharks are dangerous animals. People are having been scared

of them because they are enormous. Now, we learn that the most dangerous animals are the
smallest ones. The animal that kills every year is one that you have probably killed yourself many
times: the mosquito. While it may seem that all mosquitoes are biters, male mosquitoes eat plant
nectar but female mosquitoes feed on animal blood. They need this blood to live and produce eggs.
When a female mosquito bites a person, it transmits a small amount of saliva into the blood. This
saliva may or may not contain a deadly disease. The result of the bile can be as minor as an itchy

bump or as serious as death. Because a mosquito can bite many people, it can carry diseases from
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one person to another very easily. The most deadly diseases carried by mosquitoes are malaria and

yellow fever. About 700 million people become sick from these diseases every year. At least 2
million of them die.

Scientists are working on safer and better ways to kill mosquitoes, but so far, there is no
sure way for protection from their deadly bites. Mosquito nets can be placed over beds to protect
people against being bitten. They help people stay safe at night, but they do not kill any mosquitoes.
Mosquitoes have many natural enemies like bats, birds, dragonflies. Bringing these animals into
places where mosquitoes live might help to cut down the amount of mosquitoes in that area. This is
a natural solution, but it does not always work very well. Mosquitoes can also be killed with poisons
or sprays which may also harm other plants or animals.

Choose the correct answer from a, b, c or d:

18. The passage is mainly about " .......................... :
@ Tigers and sharks ( Harmless mosquitoes ~ (© Deadly diseases (@ Dangerous animals
19. According to the passage, if you get sick with malaria or yellow fever, your chances of survival
are ..o, :

(@ probable © terrible (© impossible @ excellent

20. Which of the following best summarises the information in paragraph 2?

(@ Poisons and sprays provide adequate protection from deadly mosquitoes

( There is no perfect solution to the mosquito problem

(© The introduction of the mosquito's natural enemies provides protection from mosquitoes

(@ Mosquito nets provide adequate protection from deadly mosquitoes

21. According to the author, some people are more afraid of tigers and sharks than mosquitoes
because tigers and sharks .......................... :

@ kill more people than mosquitoes (® are found all over the world

(© are big and powerful (@ have no natural enemies

22. Dragonflies might reduce the number of flies in a given area because dragonflies will ------------ :
(@ work together with mosquitoes ® kill mosquitoes

(© cannot be killed by poisons or sprays (@ attract bats

23. Which of the following is NOT correct .......................... :

(@ male mosquitoes are harmless to humans

( female mosquitoes are responsible for transmitting diseases to humans
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(© female mosquitoes and male mosquitoes have different eating habits

(@ male mosquitoes are responsible for transmitting diseases to humans

24. Which of the following words best describes the author's overal attitude towards the prospect
of solving the mosquito problem?

@ annoyed and puzzled ® confusing and doubtful

(© optimistic and ambitious (@ disappointed and pessimistic

25. The underlined word "minor" nearly means .......................... .

@ deadly () frustrating © insignificant (@ dangerous

3. Read the following passage, then choose the correct answer:
Dad took the decision to go on a camping trip. He read an article in the Sunday paper about

camping and how it "brings families together under the canopy.” "Overrated," | joked. "What about
the canopy of television or the canopy of restaurant food?" "This will be good for us," Dad said,
sliding the magazine across the coffee table. "Let's go next weekend."

| shot a quick look over at my little brother, Alan. He gave me a slow eyebrow raise which meant,
“This will probably not go off completely planned." My smile back said, "But it will surely be fun."
Once Dad decided we should all learn how to canoe? We borrowed two canoes from our friends,
hoisted them on the van and drove for three hours to a secluded lake in Alaska.

Alone in the middle of nowhere, we discovered that we had forgotten the paddles. Alan and | got
in a canoe with Dad and our two younger sisters got in a canoe with Mom. We floated aimlessly
around the lake for hours. Then we all jumped in with our life jackets on.

Another time, Dad decided we should all learn how to ski. All of us hate the cold, so we spent the
weekend huddled by the fire, drinking hot cocoa in the ski lodge and playing board games. It was
great. We had a blast. When | stopped dreaming, Mom was saying, "Sweetheart, wake up. You will
be late for the school bus." It was the most wonderful dream | have ever had in my life.

Choose the correct answer from a, b, c or d:

26. The main idea of the passage is ...............ccoeenene. .

@ holidays with strangers are fun ( Alaska is a proper place for a trip
(© dreaming is an outlet of your desires (@ people aspire to having holidays
27. The narrator can't go camping because he .......................... :

@ had exams at school ( was dreaming hates

(© camping very much (@ enjoys his school very much

28. To rescue people from drowning ................coouene. are badly needed.

@ life jackets (b compasses (© paddles @ canoes
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29. The underlined word “hoist” inthetextmeans ..........................

(@ discover ® exclude © float @ lift

30. Which of the following sentences is a good summary for the first paragraph?
(@ Dad's decision to go camping. ( Dad's hobby is reading.

(© Alan was very pleased with the idea. @ All the family was very delighted.
31. Because of the enjoyment he felt after his dream, hemay .......................... :
(@ stop dreaming again ( become realistic

(© persuade Dad to go camping (@ concentrate on his study

32. Which of the following can best describe the narrator's tone?

(@ modest (o sarcastic (© annoyed @ cheerful

33. "Let's go next weekend."

From this extract, we caninferthat .......................... )

@ they are eager to go camping ( father likes staying at home

(© father is decisive @ they want to go

4. Choose the correct Arabic translation from a, b, c or d:

34. The area of agricultural land in the world decreases as a result of desertification.

(8) saaill dagi allal) 8 dpe ) )3l (V) Aalie Ji

(b) ¢l ymall Cilaad dagi dae ) )30 (Y1 dale IS

(C) &) ymuall 8 #liall &y gl Allall L dge ] 50 (ia )Y sl J&5

(d) &5 ymaall Calaall A allal) L8 die) )3l (2 Y1 dalise Jeliams

35. Reading literature shapes our minds and teaches us issues about the change of society.

(a) ainall s Jon Ll Lialas 5 Wl gie J<i5 aaY) 5e) 58

(b) ainall ypsi Llad (e 3ol jall Lialas g canl L gie JSE

(c) Wie iy ¥l 8l 8 o ading painl s

(d) inall s Jon Lliad alai g Ul she 3 5 JSG )

5. Choose the correct English translation from a, b, c or d:

36 .EluYl 9 JBLI Sasll J) (i)l 9 Laasel e eudaill pggie asS Aa)

@ The understanding of education has changed from keeping and introduction to critical thinking
and creativity.

( Learning has become changed instead of saving and narrating to creative thinking and creation.

(© Teaching exchanges critical thinking and creativity for memorization and indoctrination.

(@ The concept of education has changed from memorization and indoctrination to critical
thinking and creativity

37 Dl gl § @lte Jual] plas ¢l s (slail Juol gl @dlga 9 /5l

(@ The internet and social networking sites are the fastest growing communication system in
human history.

( The internet and social networking sights are the fastest growing communication system in
humane history.

(© The internet and sociable networking sites are the fastest growth contact system in humane
history.
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(@ The internet and sociable networking websites are the fastest growth contact system in human

history.

6. Answer the following questions :

38- “I returned home, hurt and ashamed of my simple life,” said Pip.

If you were Pip, would you be ashamed of your simple life with the blacksmith? Why?

39- What was the most important moral lesson to get from Great Expectations? Why?

7. Write an essay of about 180 words on :
40- “A wonderful place you have visited.”

Final Exam (2021 s 5 (o)

1. Choose the correct answer froma, b, cord:

1.amnot ... about tragedies; | dislike feeling sad!
a. enthusiastic b. keen c. interested d. sorry
2. It’s been 2 weeks since | last ............... Sara.
a) phoned b) phone c) have phoned d) had phoned
3. You must ......ccveeereenenen. the microphone when you don’t want anyone to hear you.
a. mute b. turn on C.run d. play
V7 N IO a plumber to fix the pipe last week.
a) got b) get c) had d) have
5. There should be a variety of markets where articles are sold at .......... prices.
a. competitor b. competitively c. competition d. competitive
6. He ............. me where he had spent his weekend.
a) told b) wondered c) ordered d) said
7. Baher speaks English, Italian, French and Russian. He is .........ccccc....... .
a. multilingual b. bilingual c. bicultural d. mother tongue
8.l remember .............. days | spent in Italy.
a) those b) these c) here d) there
9. The Statue of Liberty is a famous tourist ................... in New York.
a. civilization b. communication  c. distraction  d. attraction
10. Yesterday, we went to a trip to .............. Egyptian Museum.
a) the b) a c) an d) no article
11.TO e, is to change something so much that it appears to be entirely new.
a. discover b. re-explore c. reinvent d. make
12. It is a waste of time ............. too much TV.
a) watching b) watched c) watches d) watch
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13. How often ......... the Olympic Games held?

a) are b) is c)do d) does
14. It was ............... that | couldn’t speak to half of the people there.
a) such a big party b) so big party c) such big party d) too big party
15. We use the question mark (?)......cccceevveeunnenee .
a) at the end of a question. b) at the end of a statement.
c) to show certainty. d) to express opinion.
16. Which of the following is punctuated correctly?
a) What a nice day! b) What a nice day.
c) What a nice day, d) What a nice day?
17. The body of the essay includes the. ................ of the essay.
a) middle paragraphs b) first paragraphs
c) closing sentences d) topic sentences

2. Read the following passage, then choose the correct answer:

The Canadian Museum of History will host the spectacular exhibition “Queens of Egypt” which is
tailor made to showcase ancient Egyptian queens who wielded power and influence in ancient Egypt.
The exhibition will be presented from May, 19 to August, 29 at the Canadian Museum of History.

“Queens of Egypt” will contain more than 300 iconic objects including queen Nefertari’s burial
chamber. The burial chamber of this queen is one of the most beautiful known tombs of Ancient
Egypt. “Queens of Egypt” will be an immersive multisensory experience that sheds light on the
important military, political, diplomatic and religious roles of seven legendary female figures of the
New Kingdom, including Nefertari and Nefertiti.

The exhibition will feature outstanding pieces from the Museo Egizio of Turin (Italy), which
houses the largest collection of Egyptian antiquities outside of Egypt, and the Museum of Egyptian
Antiquities, Cairo, home to the world’s largest collection of Ancient Egyptian artifacts. Among the
objects from Cairo, presented for the first time in North America, visitors will come face to face with
an immense statue representing Hatshepsut, one of the few women of that era to have become a
pharaoh.

“Queens of Egypt will offer an unforgettable glimpse into one of history’s most important
civilizations from the perspective of women,” said Jean-Marc Blais, Director General of the Canadian
Museum of History.

The History exhibition experiences will be enhanced with an area dedicated to interactives, multiple
events as well as an exclusive exhibition of contemporary works by female Egyptian artists,
developed in collaboration with the Embassy of Egypt.

Choose the correct answer from a, b, ¢c or d:

”

18. The main idea of the passage is “........................ :
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a) Ancient Egyptian queens at the Canadian Museum of History.
b) Hateshepsut, the first woman pharaoh in ancient Egypt.
c) Female Egyptian artists in the Egyptian embassy in Canada.
d) Queens of Egypt on their first travel to North America.
19. The word “houses” in the third paragraph means ...............

a) keeps something b) deletes something C) carries somethlng d) performs something
20. The best summary of the last paragraph canbe ...................
a) “The roles of the Embassy of Egypt.” b) ¢ Contemporary works in the Embassy of Egypt.”
c) “Developing the Embassy of Egypt.” d) “The History exhibition in the Embassy of Egypt.”
21. The Canadian Museum called the exhibition “Queens of Egypt” to show ................. )
a) The influence of the woman in ancient Egypt. b) The names of the queens.
c) The ancient history. d) Egypt was ruled only by queens.

22. The great care the exhibition of “Queens of Egypt” has in the Canadian Museum proves ......... .
a) The strong relationship between Egypt and Canada.
b) The tension between Egypt and Canada.
c) The tension between ancient Egyptian queens.
d) The bad effect of the monuments left on the audience.
23. The success of “Queens of Egypt” exhibition may ........................ :
a) encourage the government to give due care to exhibitions.
b) prevent us from having any tourist events.
c) invite other countries to hold exhibitions in Egypt.
d) show how unfavourable image we have abroad.
24. The museums in Canada and ltaly are located in different places, but they all share the ......... .
of Egyptian antiquities.

a) eagerness b) hatefulness c) kindness d) forgiveness
25. Holding exhibitions for our monuments abroad will ........................

a) encourage tourists to visit Egypt. b) harm Egyptian tourism greatly.

C) increase the cost of living in Egypt. d) destroy tourism in Canada.

3. Read the following passage, then choose the correct answer:

In a small village, there lived a little girl whose name was Sophia. Her uncle gave her a few of
pennies to share with her twin brother John in their fifth birthday. She looked at the pieces and said,
"What shall we do with them, Mother?" "You mustn't spend them foolishly," said their mother. The
twins ran into the street. They wondered what they should buy. Should they buy candy? They hardly
knew how it tasted. Should they buy a toy? If they had been the only children in the family, things
might have been different. But there were three boys older than them and two little younger sisters.

They hadn’t gone far when they met a larger boy who was blowing a flute. "I wish | had that flute,"
John said. The big boy looked at them and blew it again. Oh, what a pretty sound it made!" Sophia
showed the money to the boy. "You may have them if you will give us the flute." "All of them?" The
boy asked. She looked at her brother then nodded. "Well, it's a deal," said the boy, and he gave the
flute to the boy and took the pennies. Little John was very happy. They ran home quickly.
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"You've paid a dear price for this thing. You might have bought half a dozen of such flutes with the
money," said his mother. The twins saw what a mistake they had made. The flute did not please John
anymore. He threw it upon the floor and began to cry. "Never mind," said the mother very kindly. “You
are only very little, and you will learn a great deal as you grow bigger”.

Choose the correct answer from a, b, c or d:

26. The central idea of this passage can be ..............ccccvvvvennn. :

a) The older you grow, the wiser you will be.

b) The more people you meet, the more money you will get.

c) The more money you get, the fewer things you will buy.

d) The more relatives you have, the more money you will earn.
27, i liked to have the flute.

a) John b) Sophia c) The boy d) The mother
28. Which of the following sentences can be a good paraphrasing for the last paragraph in the passage?
a) The mother calmed down John telling him that they would gain more experience through life situations.
b) The mother threatened John telling him that he had to get her other pennies instead of the lost ones.
¢) The mother punished John telling him that they would not have any nice flutes in their life.
d) The mother warned John that he shouldn’t buy flutes from boys in the street.
29. How were the twins deceived by the boy?
a) The boy sold them his flute for more than it deserved. b) They decided to buy a flute to their mother.

c) They had to buy a flute to play with brothers. d) The mother gave them money to buy a flute.
30. "They hardly knew how it tasted". This sentence shows that the twins .............. .
a) live in poverty b) didn’t like candy c) had to inform their mother  d) preferred to taste it
31. After John's experience of buying the flute, he mightlearnto .............ccccccoooennnn. :
a) value things b) stop crying c) ask his father for money d) waste his money
32. Although the mother advised her children to spend money wisely, she didn't get ............... when
they didn't.
a) upset b) happy c) delighted d) satisfied
33. According to the passage, the big boy took the advantage on the children and ....................... :
a) took all their money. b) play the flute again.
c) gave them the flute for free. d) tried to sell the flute.

4. Choose the correct Arabic translation from a, b, c or d:

34. Achieving justice is the keystone that establishes social peace and stability during the next
decades.

a) sl seaall YU Hlaidly (sl DLl Gurald (qoludl 2ol 9o Dl G

b)  adlssanll UM Ly alladl edld! Guiall) Zlidall yzm 92 Juadl )

c) Addaicadl dgaall s3I Hlyaiudly allal Al Guaali) Dgl3)l oz 98 Aluall 3929

d) Ayl plge! s U3l iy (£laizl edd! Guaaell) el Zlide 9o Juall aakas

35. Many great inventions are initially received with ridicule and disbelief but finally became great.
a) dapae Comal Llgdl 3 SIS dyseadl a3 dodaall Olel Y1 (o il Sl o
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b) 8BS Covual Bl 3 oS 58019 doyseadl il (3 48U lel il (e dpdall dglge o3

c) dogdac <38 Gl § @l pd) slaieYly dyseadl Llgdl (§ daranlly 5801 colel sl i 3

d)  dedie Compol Bl G 1 o) pasly Ay ladl @ dadaal) Olsedll (e sl ol 03

5. Choose the correct English translation from a, b, c or d:

36 ) Jos joyd 3l comd @3l O] § Olud) Oluss Loss dxadlg Al

a) Being jobless and illiterate are the main factors of committing crimes, so it is necessary to create
jobs opportunities for young people.

b) Being jobless and literate are the main factories of commuting crimes, so it is necessary to create
jobs opportunities for young people.

c) Employment and illiteracy are the main reasons of making crimes, so it is necessary to create jobs
opportunities for young people.

d) Unemployment and literacy are the main reasons of making crimes, so it is necessary to create
jobs opportunities for young people.

37 ! palatll oy iy 3 SS9 2l Juadly duzd! Jaddasiilly d8latlly @lall el puas

a) Nations achieve progress through science, culture, good planning and hard work. This can result
from good education.

b) Nations achieve application through science, culture, good plane, hard work. This can result in
good education.

¢) Through progress and science, agriculture, good planning, hard work. Nations can produce good
education.

d) Through process and science, culture, good planning and hard work. Nations can have good
education.

6. Answer the following guestions :
38- Do you agree that Miss Havisham'’s fiancé and brother affected the lives of Pip and Estella?
Why?

39- In your opinion, what is the most important lesson to learn from Great Expectations? Why?

7. Write an essay of about 180 words on :
40- “How to share in the development of your country.”

Final Exam (2021 sla - 325)

1. Choose the correct answer _from a, b, c or d:
1. When he wanted to sell his car, Maher left out some facts about the poor condition of his

car; he was biased by ............. .

a) omission b) spin c) placement d) location
2 seeing the accident, | called the ambulance.
a. Before b. During c.On d. While
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3. My brother has just graduated from the faculty of law, and he is going to be a/an ................... to
a famous lawyer to gain experience.

a) member b) membership c) apprenticeship d) apprentice

4.1 saw Ayten last week. | ......cccovevnnene her since 2019.

a. haven’t seen b. hadn’t seen c. didn’t see d. don’t see

5. After going through many obstacles, she qualified as a doctor. “Obstacles” can be a synonym for ..... .

a) difficulties b) awards c) gifts d) hopes

6. Mona got bored. ............c.......... herself alone, she decided to read a science fiction story.

a. Found b. Finding c. Find d. To find

7. is a foundational concept that allows people to make sound decisions and act appropriately.
a) Common sense b) Career direction c) Life style d) Life-changing

8. Yasser ..., with his friend for an hour; he hasn’t finished yet.

a) has been chatting b) will be chatting c) had been chatting d) had chatted

9. Young people usually lack the experience and ................ of old people.

a) activity b) health c¢) enthusiasm d) wisdom

10. The meeting ......ccceeeueeueenn. cancelled; | don’t have accurate information.

a) must have been b) might have c) might have been d) must have

11. Who was ............... charge of the department after Mr Adly had resigned?

a) on b)in c) of d) with

12. Unfortunately, thereiis ................... money left; it isn’t enough!

a) much b) few c) a little d) little

13. My ............. to students’ lives was to encourage them to depend on themselves to solve their own
problems.

a) confusion b) contribution c) composition d) constitution

14. Which of the following is punctuated correctly?

a. Ayman said, Where did you spend your holiday, Ali?

b. Ayman said, "Where did you spend your holiday, ali?

c. Ayman said, Where did you spend your holiday, Ali.

d. Ayman said, "Where did you spend your holiday, Ali?"

15. When you write an essay or paragraph, you start with a/an ................... sentence.

a closing b introduction c conclusion d ending

16. When you conclude writing your essay, you should .................... .

a. summarize its content  b. develop the main idea c. make the end open d. put a full stop
17. In a formal email, you will conclude it with ".................. "

a. Bye b. Yours sincerely c. See you later d. See you soon

2. Read the following passage, then choose the correct answer:
It is commonly believed that only rich middle-aged businessmen suffer from stress.
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Anyone may become ill as a result of stress if they experience a lot of worry. Stress can be a friend or

an enemy. It can warn you that you are under too much pressure and should change your way of life.
It can Kill you if you don’t notice the warning signals.

When we are very frightened and worried, our bodies produce certain chemicals to help us fight
what troubling us. These produce the energy needed to run away fast from an object of fear. if we
don’t use up these chemicals or produce too many of them, they may harm us. The stomach, heart,
skin, head and back are badly affected by stress. For example, any student in a final year can be
under two stresses. He can be under great pressure preparing for his exams and a dispute with his
father. He may wake up after sleeping badly discovering that his body was covered by red lumps.
Stress can also cause car accidents, heart attacks, alcoholism and even suicide.

Our living and working conditions may put us under stress. Overcrowding in large cities, traffic
jams, competition for jobs, uncertainty about the future may be stressful. If you have changed jobs or
moved house in recent months, you are likely to fall ill. What can we do about stress? As with all
ilinesses prevention is better than cure. When you are taking work home, you can enjoy yourself. So
you have to tell yourself that it is time to stop and join a relation class. To avoid stress, one should
have a balanced life.

Choose the correct answer from a, b, c or d:

18. This passage mainly deals with ........................ :

a. committing suicide and car accidents b. joining a relaxation club

c. stress as a psychological problem d. job competition and their effects

19. The sentence that can best summarize the third paragraphis .......................

a. pressures we are exposed to before exams b. stress can destroy our life I

c. we are always frightened d. some causes of stress and ways to overcome them
20. When scared, our bodies getout ...................... )

a. illnesses caused by fear b. the stresses we suffer from

c. intentions to put an end to our life d. some chemicals to combat this fear

21. According to the passage, some people may feel ............... when they move into a new house.
a. stressed b. dishonest c. happy d. content

22. From the passage, find out the word that means "a swelling under the skin which is a
sign of illness"

a. lung b. lump c. lamb d. lumber

23. Why do you think that businessmen are always under stress? Because ............

a. they are busy thinking about warning signals b. they export goods all over the world
c. they tour the world very often d. they might lose lots of money

24. According to the passage, stressful life is ............

a. painless b. painful C. dellghted d. enjoyable

25. What do you think would happen if we overcome stress? We would ............ :

a. suffer from many conflicts b. start making debates

c. hinder progress and development d. enjoy peace of mind

3. Read the following passage, then choose the correct answer:
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With the development of modern civilization, life has become more and more complicated.

As a result, the car, which was once considered a luxury, is now looked upon as a necessity.
Doctors, engineers and businessmen cannot work without private cars. Moreover, the rapid growth
of population in capitals and main cities has actually made the joy of possessing a car much less.
Besides the problems of keeping a car in good condition and the lack of garages, there is the big
problem of crowded streets.

Most people insist on having a private car to avoid the long wait at a bus stop. To get on or off
the bus is a hard struggle. Going to places by taxi does not solve the problem as taxi drivers take
passengers according to rules they themselves set. They sometimes ask for more money than they
deserve.

Cars could be a source of trouble. Many people have to leave their cars in the streets
because garages are expensive and crowded. This exposes them to rusting or robbery. In rush
hours, streets are so blocked that it takes a driver ages to get to his destination.

Choose the correct answer from a, b, c or d:

26.Taking a public bus is a problem because .................

@ it is expensive ( getting on and off the bus is difficult
© it is very slow @ bus drivers drive carelessly

27.The underlined pronoun "they" inline 10 refersto .........................

@ taxi drivers () taxies © buses (@ passengers
28.Most people insist on possessing a private car to keep ...... the long wait at the bus stop.
@ up ( away from © on @ down

29. Possessing a private caris ......................... to doctors and engineers.

a) unnecessary @ difficult (© indispensable @ bad

30.The underlined word “complicated” means .....................

@ easy to solve © familiar (© complex @ similar
31.When are cars, according to the writer, exposed to robbery?

@ when they aren’t locked (® when they aren’t covered

c) when they are left in garages (@ When they are left in the street

32. The best title for the passage is ...................

@ The advantages of private cars (@ The disadvantages of private cars
(© Private cars are a mixed blessing @ Avoiding private cars

33. The antonym of the underlined word "private"is ...................

@ regular ®© public (© personal @ strange

4. Choose the correct Arabic translation from a, b, c or d:

34. A goal is something you want to achieve. First, you must decide what your goal is.
a. i sa e o) ang Vgl ealiiad 3 i La (o3 Caagl)

D. oot 25 A Chagll sa Le 8 Wl o3l sal i Le (o5 Cangl
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C. o ual a il )8 Vsld dla (o5 58 0 a3 (53l Caagll
d. <laa &Sy cnl 8 Vsl cleliiad 4y 5 el (aia Caagll

35. Cultural heritage represents the history of a nation. Therefore, we should conserve our heritage
because it provides a sense of identity and continuity in a fast-changing world for future generations.
A ) o @le 8 dylpeiad 9 dogglh Lulusl S99 Y W15 e adloss O o N, &6Y1 Gy (5, Sal LI S

deala)l Jua

b. sl g e 3 Aplyaiadl g Blasl Lulust 1350 43 U315 e Jadlows O ooy U, &aY 7B 3l L1 oy

deala)l JuaW

c. il g plle 3 dylpeindl g sl Lulusl 4950 49 U313 e adloxs O cazy G, A6Y) Gy 3L L1 Jiay

deala)l Jua

d. 0 o elle 3 At 9 gl Lulust S35 4 L) e sl o Comy AU, A1 )6 L) L1 S

deoldl JLaS

5. Choose the correct English translation from a, b, c or d:

36 .oyl Juiwall § Bptas IS dxlgl CBgan Vg oliall po USMgites! ity O s

a- We must rationalise our consumption of water, or we will face serious problems in the near future.
b- We must nationalise our consumption of water, or we will face serious problems in the near future.
c- We should rationalise our consumption of water, or we will face series problems in the near future.
d- We have to rationalise our consumption of water, or we will face dangerous problems in the near
future.

37 add By b 4l goaile Gudisd § e bodicy , Blad] (§ Lgadoss (§ dgirls Blual susg cludd 3o Lgabs (S Lasls
G20 Loy 8ol

A. You must be content. Always please yourself, set goals and strive to achieve them in life. When
you succeed in achieving what you aspire to, you feel happy with what you have accomplished.

B. Always be ambitious, motivate yourself set goals and strive to achieve them in life. When you
succeed in achieving what you hope to do, you feel happy with what you have dreamed of.

C. You must be ambitious. Always motivate yourself, set goals and strive to achieve them in the
future. When you fail in achieving what you aspire to, you don'’t feel satisfied with what you have tried
to accomplish.

D. Always be ambitious, motivate yourself, set goals and strive to achieve them in life. When you
succeed in achieving what you aspire to, you will definitely feel happy with what you have
accomplished.

6. Answer the following questions :

38- In your opinion, which life was better for Pip: his life at the blacksmith’s or the wealthy one in
London with the convict's money? Why?

39- Which character do you sympathise with most in Great Expectations? Why?

7. Write an essay of about 180 words on :
40- “Adifficult situation you gained a lot of experience from.”
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1. Choose the correct answer from a, b, c or d:

1. Don’t worry; the book you need is ......... in the school library.

a. sold b. available C. unavailable d. lent

2. Because of the devastating fire, shop owners were ......... ; they received a fair amount of money.
a. fined b. ignored c. compensated d. persuaded

3. He was able to achieve great success despite the ......... he’d faced.

a. obstacles b. awards c. facilities d. ambitions

4. He was 20 when he started to ......... a lot of tournaments.

a. beat b. win c. conquer d. earn

5. My sister could make a/an ......... big cake in the shape of a tower! It is extremely surprising.
a. inconvenient b. inconveniently c. spectacularly d. spectacular

6. What would you do if you landed on the .................. of the moon?

a. surface b. depth c. star d. universe

7. Don’t be pessimistic; try to dismiss these ......... thoughts from your mind.

a. optimistic b. gloomy c. cheerful d. interested

8. My uncle works as an accountant for .................. clothes factory in October City.

a. no article b.a c.an d. the

9. I knew there was a destructive earthquake. That ......... have been terrifying!

a. should b needn’t C. must d. can’t

10. The e, that the new factory was going to be built next year.

a. declared b. told c. inquired d. asked

11. | miss you so much. | haven’t seen you .................... ages!

a. ago b. since c. while d. for

12. Damietta is a famous Egyptian city ................... high-quality furniture is made.

a. that b. where c. which d. when

13. There is a chance that Baher will win the game. This means that he ......... win it.

a. might b. can’t c. must d. should

14. Nearly 14 million people live in Tokyo, ......... is one of the most populated cities in the world.
a. where b. whose c. what d. which

15. Which of the following isn’t punctuated correctly?
A. What an amazing suit you’re wearing!

B. Mr Taher is the new manager, isn’t he?

C. I don’t know why he refused to attend the meeting?
D. Hatim studies English, science and French.

16. Which of the following is a hook sentence?
A. In short, no other source of information is as important as the internet.
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B. Moreover, the internet is available in most places nowadays.

C. On the other hand, the Internet could be harmful if it is used carelessly.

D. Most people agree that the Internet is a great source of information.

17. In a persuasive essay, awriter ........................ :

A. gives a description of a certain place.

B. attempts to convince the reader to adopt a certain point of view or take a particular action.

C. narrates someone’s experience or events.

D. explains a concept or topic by defining the concept, both generally and then in detail.

2. Read the following passage, then choose the correct answer:

The World Cup is one of the biggest sporting events in the world. This great football championship
features players from thirty-two nations. Each nation wants to win the cup by becoming the number
one football team. The World Cup is a worldwide contest that takes place only once every four years.
However, it holds the attention of much of the planet when the games begin. The World Cup was
created in 1928, and the first World Cup games were held in Uruguay in 1930. It was an all-male
contest at that time. The first women’s World Cup was held in China in 1991. Football is not quite as
popular in the United States as basketball, or baseball.

However, it still has millions of followers. People all over the world often get up in the middle of the
night or skip work to watch their nation’s team compete. More than five billion people watch the final
match on television.

That is most of the people living on the planet. During the contests leading up to the final game,

people in the winning nations often hold street parties to celebrate their teams’ victories.

Some countries seem to be the best in the game for a period of time. When Pele played for

Brazil in 1970, his team won the World Cup. Brazil's team is considered one of the greatest.

Pele is regarded as the best football player by many fans. Brazil has won a total of five World Cups,
far more than any other nation.

Another matchless player was Maradona who was regarded as one of the greatest ever
footballers to have played the game, and was awarded FIFA Best Player of the 20th Century.
Maradona became a global icon after leading Argentina to the 1986 World Cup but he was not a
clean idol like Pele. He was known for drug addiction and he was arrested in Argentina for cocaine
possession.

Choose the correct answer from a, b, c or d:

18. Which of the following is the best topic sentence?

a) paragraph one, first sentence b) paragraph three, first sentence

c) paragraph two, first sentence d) paragraph one, last sentence

19. From the context of the passage, which is the best antonym for "victories"?

a) wins b) happiness C) results d) defeats

20. Who is Pele?

a) a cocaine addict b) a Brazilian team c¢) an average footballer  d) one of the greatest
footballers

21. When was the first women’s World Cup?

a) 1928 b) 1930 c) 1991 d) 1997

22. In America, basketball and baseball are ............ football.
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a) more popular than b) less popular than C) as popular as d) more dangerous
than

23. People all over the world admired Maradona despite .............

a) his bad behavior b) leading his team to the World Cup

c) his matchless talent d) scoring so many goals

24. The first women’s World Cup was held in ............. :

a) Africa b) Uruguay c) Asia d) South America

25. In the last paragraph, the pronoun "He" refers to .............. :

a) Pele b) Maradona c) the clean idol d) local icon

3. Read the following passage, then choose the correct answer:

It is most necessary for everyone to cut down on his food expenses. Since the early 1970s the cost of
the food has gone up faster than the cost of all commodities and services. The increase has mounted
to more than 300%.

For all Egyptian families, food is the biggest item in their monthly household. In fact, it swallows
more than half the budget of millions of low-income families. People suffer from the high prices of
food a lot. How will such a state of affairs end? Is it the fate of low-income families to face starvation?
Isn’t there any solution?

To be sure, there is. You can reduce your food expenses at least 20% by observing the
following pieces of advice. Note the food items you need when your supplies run low. Group the
same kind of food together and write a list of your needs. Use your list as you shop and don’t buy any
items which are not included on the list. Food is sold nowadays in different forms: fresh, canned and
frozen. Choose the cheapest and healthiest ones. You can buy fresh vegetables instead of frozen
ones because they are cheaper and healthier. Chickens are cheaper than red meat. You can have
cheese, beans and eggs instead of meat.

One last bit of advice, “Don’t go shopping on an empty stomach”. Shopping when you are
hungry tempt you to buy things you don'’t really need.

Choose the correct answer from a, b, c or d:

26- The underlined word “it” in the second paragraph refersto ..........................

a) the budget b) food c) commodities d) services

27- As food is the biggest item in the Egyptian family budget, people should buy .....
a) all the food b) frozen food c) only healthy and cheap food d) canned food
28- To attract or make someone want to do or have something isto ..........................
a) refuse b) distract c) tempt d) reject

29- Those who don't eat meat are called ...........

a) meat eaters b) vegetarians C) vegetables d) vegetation

30- It's advisable not to go shopping while you are ..........................

a) angry b) hungry c) sad d) happy
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31- Writing a list of what you needis ...............ccoeeeene.

a) useless b) expensive C) important d) a waste of time
32- How many forms of food are mentioned in the passage?

a) three b) five C) seven d) two

33- From the context of the passage, which is the best synonym for “famine"?

a) income b) solution c) fate d) starvation

4. Choose the correct Arabic translation from a, b, c or d:

34. The Russian-Ukrainian war has seriously affected the prices of essential commodities and oil
worldwide. So, it is necessary to combine efforts and fight greedy traders to confront this crisis.

-2 G190 oo WU Jawgdl (38l souil aner (3 sbyeSIly dwld)l aduadl jlad e plas [Sag 431,81 &g I oyadl @31 48
)Y 0 dgrlgel adiad] ol dyylonag S942) ,3Li3

-b U= s9eadl 8Ll (§y9 4l (e U, Aol Joll (3 Jaaily dwliadl alaadl jlad e plas g 431,81 dng 1 oyl )3l
oyl Gl slgily AoV oda

-C LAl ()98l e G @Il slosil ez (3 adidly dewld)l aluadl jland e plas g &30S &g Il oyl @31 aa)
ZeYl 0 dgrlgal (padindl sl dyylonag 9420

-d 394l y3UaS ()9 )l (e N @l sl apex (@ Jadilly Al dudl J395 e oz S &30SV dang 1 yadl )3l
Aoyl ol Jod egidlang cradedl Hloill dyylmag

35. Russia and Ukraine are some of the largest producers of wheat in the world. So, experts believe
that the Russian-Ukraine war has greatly affected food prices all over the world.

A el e S IS < a8 A S5V sl ol o el el ey oAl el A el oaiie 5T e Wil Sl Ly 2ad
Alladl elash asas 8 4013200 ol all,

bl e el IS0 i 08 4 S V) A gl coall G el uall ey N allal) 8 el aite ST Cpe LS 5l 5 Lana g 2a
Allall slail ppen 8 4503200 3 5al,

€ el o € IS < 08 41 58 531 A g )1 al) () pall iy (SN el 8 Ve ) e ST (e Ll S gl 5 Ly 2a
aAllall elail ppen 8 4503800 3 5al,
d. Db o HaS JSG e il 08 4 S 0¥ A )1 Cooal) O slalall sy Al allall 8 sl aia ST (g Ll S5l 5 L gy a3
allal) ladl aran 8 413801 ) sl

5. Choose the correct English translation from a, b, c or d:

36 S Al A el VYA e el Jisd) Cpaad G A Gladl il 8 8 YA YY anil) 3 S allal) (S AL sl e ciilad 3
Gy pal) A8E 3 dalall 5 o KU e

a. The opener ceremony of the 2022 FIFA World Cup in Qatar has caught the attention of the whole
world. The ceremony included many symbolic signs that express generosity and hospitality in Arab
culture.

b. The opening ceremony of the 2022 FIFA World Cup in Qatar has caught the attention of the whole
world. The ceremony included many symbolic signs that express generosity and hospitality in Arab
culture.
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c. The opening ceremony of the 2022 FIFA World Cup in Qatar has caught the attention of the whole
world. The ceremony included many symbolic signs that express generosity and hospitality in Word
culture.

d. The opening party of the 2022 FIFA World Cup in Qatar has caught the attention of the whole
world. The ceremony included many symbolic signs that express generosity and hospitality in Arab
culture.

37 e dui,dVlg duyadl Joull 8)u8 dS @lall i 1dg ¢ @l W (§ e gl g ygue Sotunes @lladl J9d Cyiall a3l ual
5o duudliall e Lo grasill drs. “

a. Morocco has dazzled the countries of Africa with an impressive level and amazing results in the World Cup,
and this has proved to the world the entire ability of Arab and African countries in general to compete
strongly.

b. Morocco has dazzled the countries of the world with an impressive level and unexpected results in the
World Cup, and this has proven to the world the entire ability of Arab countries in particular to compete
strongly.

c. Morocco has dazzled the countries of the world with an impressive level and amazing results in the World
Cup in Qatar, and this has proven to the world the entire power of Arab and African countries in particular to
compete strongly.

d. Morocco has dazzled the countries of the world with an impressive level and amazing results in the World
Cup, and this has proven to the world the entire ability of Arab and African countries in particular to compete
strongly.

6. Answer the following questions :

38- If you were Estella, would you warn Pip of Miss Havisham’s plan? Why?
39- What is the best character in Great Expectations, in your opinion? Why?

7. Write an essay of about 180 words on :
40- *“Everyone should have a role to play to share in the development of their country.”

Final Exam (Longman 2023 GPE 2)
1. Choose the correct answer from a, b, c or d:

1. Let’s get ......... and discuss the problems we face.

a.on b. off c. away d. together

2. Despite her illness, she lost none of her ......... for life. She was always optimistic.

a. envy b. enthusiasm c. hatred d. pessimism

3. My father enjoys watching different matches on TV, but he rarely ......... any sports.

a. thinks b. makes c. does d. carries

4. Due to his significant achievements, my uncle has become a/an ......... to all young people in our
neighbourhood.

a. inspiration b. respiration C. source d. cause

5. Unfortunately, he couldn’t get that job because he ......... experience.
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a. leaked b. liked c. locked d. lacked

6. Thousands of people went to the ......... of the late President Sadat.

a. arrival b. funeral c. approval d. festival

7. To win the job, you need to act ......... during your internship at our company.

a. spontaneous b. spontaneously c. professionally d. professional

8. Once | have reached London, I ......... you an email.

a. will have sent b. will be sent c. will send d. have sent

9. Salma ............... engineering for five years and became a clever engineer.

a. studied b. is studying c. has studied d. will be studying
10. As soon as | reached the office, I ......... doing the new task.

a. have started b. will start c. started d. had started

11. I’'m so sorry; only ......... coffee was spilt on the carpet.

a. little b. a little c. much d. a few

12. Jailan ......... install a new antivirus yesterday; she actually had a very strong one.

a. had to b. needn’t c. didn’t have to d. mustn’t
13. My brother hopes ......... to a higher post in the company.

a. to be promoted b. will be promoted c. to promote d. to be promoting
14. Your car ......... ; you need to wait a little.

a. had been checked b. has checked c. is being checked d. is checking

15. Which of the following is punctuated correctly?

a. | said, “Why don’t you come to my sisters wedding, Nada?”

b. I said, “Why don’t you come to my sister’s wedding, Nada?”
c. I said “Why don’t you come to my sister’s wedding, Nada?”

d. I said, “Why don’t you come to my sister’s wedding, Nada?”

16. The following sentence could be part of a/an ................. essay.

The Taj Mahal is a magnificent Indian monument. It is a great architectural masterpiece. It has four
magnificent pillars. It is at least 2.5 kilometres from the Agra Fort.

a. persuasive b. narrative c. descriptive d. argumentative

17. A/An ................. essay is a piece of writing that focuses on outlining a person's

experience and how it can be used as a tool to alter one's perspective on life.

a. persuasive b. descriptive c. argumentative d. reflexive

2. Read the following passage, then choose the correct answer:

Should we work all the time without having rest or entertainment? The answer is that we can’t
go on working stopping. From time to time, we should stop to have some rest and some recreation
to have fun. If we didn’t, we could make mistakes and our work might get worse.
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An overworked person may end up by losing their ability to think clearly and by having no
energy to go on working. Sleep is one way by which we can renew our energy. Sports and games are
also important for brainworkers, who stay in closed offices and don’t have a good chance to exercise
their muscles. Swimming, walking and other outdoor activities are excellent and may very good for all

people, so we shouldn’t waste our weekends. People make full use of them by being in the open
spaces. Having forgotten all about our work and the worries of life, we can then enjoy ourselves to
the full and return the next day to work with our energy fully renewed. Change has a magic effect on
man’s health and his work.

Only clever people are those who can make a balance between their work and their personal
lives. They are hardworking when they do their jobs and they live the happiest moments when they
aren’t working.

Choose the correct answer from a, b, c or d:

18. The best title for the passageis.....................

a. Happy Moments b. Magical Energy C. Importance of Rest d. Importance of Games
19. The underlined word “recreation” in the first paragraph means .................

a. effort b. health C. stress d. relaxatlon

20. The writer’s purpose in the last paragraphisto ........................

a. suggest doing our jobs in the open air b. tell us the story of hardworklng people

c. warn us of living happily without work d. advise us to make a life-work balance

21. According to the second paragraph, we understand that man’s health improves by ............... :
a. changing our sleeping habits b. thinking of the worries of life

c. having a break every now and then d. working all the time without rest

22. All the following are examples of brainworkers except ................... :

a. mathematicians b. cleaners C. surgeons d. engineers

23. According to the passage, change has ........................

a. a vital effect on health and work b. no effect on health or work

c. an essential effect on health only d. an important effect on work only

24. We can avoid making mistakes ifwe.....................

a. don’t have rest b. relax C. go on hard Work d. do our jobs lazily and carelessly
25. An overworked personhasa ................... meaning.

a. positive b. violent C. aggressive d. negative

3. Read the following passage, then choose the correct answer:

Plants have been used for treating illnesses since primitive times. paintings in the tombs of the
pharaohs show that plants were being used by the Ancient Egyptians for medicinal purposes. Today,
some modern drugs are still based on natural herbs. Aspirin, for example, is based on the bark of the
willow tree. Natural remedies are attracting increasing attention all over the world. the advantage of
herbal medicine is that the whole of the plant can be used: the powerful substance in the plant cures
the illness while the contents of the rest of the plant may help to prevent any harmful side effects. in
this way, herbal medicines may be safer than chemical ones. Garlic is just one herb that has been
used throughout the world as a cure for diseases as it is used to treat hair problems. Similarly, henna,
which is known to be good for the hair, can also be used in the treatment of cancer. If you pay a visit
to a herbalist shop in Cairo, you will be struck by the different colours and smells. There are jars full
of tree barks, roots, powders, oils and spices. The customer enters the shop and explains his
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symptoms to the herbalist, who will take notes, study medical reports and check his reference books
before writing out a prescription.

Choose the correct answer from a, b, c or d:

26- Natural remedies are attracting attention because they ..............

a) are used in Egypt b) have side effects C) are exported d) can treat a lot of diseases
27- Garlic is an example of ................

a) natural remedies b) artificial herbs c) chemical medicines  d) modern drugs

28- e, is a physical condition that shows you may have a particular disease.

a) Prescription b) Property c) Symptom d) Remedy

29- A herbalist writes out a prescription ................ checking his reference books.

a) during b) after c) while d) before

30- The pronoun "his" in the last paragraph referstothe .......................... ... :

a) herbalist b) shop C) customer d) prescription

31- Herbal medicine is .............. than chemical medicine.

a) more effective b) less effective ) not effective d) as effective

32- If you visit a herbal shop, you will be stuck by the various .................. .

a) tourists b) colours c) smells d) colours and smells
33- Aspirin is based on the ........... of the willow tree.

a) stem b) bark (c) root d) seed

4. Choose the correct Arabic translation from a, b, c or d:

34. Education is the most important factor that influences both an individual's and a country's
development. It has now become an essential element in the success of any society's new
generations.

2) Jlerd S § Lol ke 031 ol 4 cllly ool &ue e 355 (50T &aa S Jolall (0 2001

dgo ,LST G B,

b) Jla¥ 2125 § Lol st 05 el il calld) liatd) duaid o 55 Ul Zhan TSI Jolall 5 el
iz gl § Bl

¢) Jbadl slue] (§ Lol Sole o1 sl ual il 3,8 duaid e 553 ST Adeld ASYI Jalall g0 wulall

Ballal ©Obudl dgalgal Bupdsedl,
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35. The government pays great attention to children, especially children with special needs. It
provides social, health, and cultural care to prepare them to face global challenges and be useful
citizens.
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5. Choose the correct English translation from a, b, c or d:
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a. We are always proud of our modern civilization, which is one of the most important factors in
attracting tourists and increasing national income, but at the same time we must strive to build a
modern heritage

that future generations can be proud of.

b. We are always proud of our ancient civilization, which is one of the most important factors in
attracting tourists and increasing hard currency, but at the same time we must strive to build a
modern heritage that future generations can be proud of.

c. We are always proud of our ancient civilization, which is one of the most important factors in
attracting tourists and increasing national income, but at the same time we must strive to create a
modern heritage that future generations can be proud of.

d. We are always proud of our ancient civilization, which is one of the most important factors in
attracting tourists and increasing national income, but at the same time we must strive to create a
modern architecture that future generations can be proud of.

37 oda 0T 19,50 of o 509 Bl (3 Bl (e dpdadl wgd Qlid) (o dpdadl OF 39 ya0dl (10
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a. Itis common knowledge that all people have numerous life goals, but they must keep in mind that
these aims must be compatible with their abilities and efforts.

b. It is common knowledge that many young people have numerous life goals, but they must keep in
mind that these aims must be compatible with life challenges.

c. It is known that many young people have numerous life goals, but they must keep in mind that
these aims must be compatible with their abilities and efforts.

d. It is known that many young people have numerous life goals, but they must keep in mind that
these aims must be compatible with their needs in life.

6. Answer the following questions :

38- Do you think that Pip’s life would have changed if he hadn’t met the convict? Why?

39- Do you think there is a similarity between the characters of Estella and Miss Havisham? Illustrate
your answer.

7. Write an essay of about 180 words on :
40- “The most important experience that has affected your life.”
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Final Exam (Longman 2023 GPE 3)

1. Choose the correct answer from a, b, c or d:

1. Mayar Sherif became the first woman to be ......... in the Women's Tennis Association’s top 100
players.

a. risked b. ranked c. left d. beaten

2. Some of the stolen property was found in the old man’s house. “Property” is a synonym for “......... "
a. dreams b. ambitions C. possessions d. deals

3. Akind old man has ......... that child after his parents’ death. He brought him up with his children.
a. adapted b. left c. abandoned d. adopted

4. He was terribly ill yesterday, and today he has relatively ......... I’'m pleased he got better.

a. recovered b. covered c. got worse d. infected

5. The newly graduated young man is a promising ......... who is keen to get a new job in the
neighbouring bank.

a. employer b. expert c. intern d. candidate

6. Did you know that many people visit Brazil to ......... the famous Carnival in Rio de Janeiro?

a. experience b. expire C. exercise d. export

7. | speak English and German, but Arabic is the ...... language spoken; it’s the native language in Egypt.
a. foreign b. second c. dominant d. minor

8. My mother asked me to grill the fish for five minutes on ......... side.

a. all b. every c. each d. both

9. Please raise your voice; | can’t hear ......... you are saying.

a. which b. when c. that d. what

10. He seemed exhausted because he ......... hard all day.

a. has worked b. has been working c. had been working d. had worked

11.1........ spending the weekend with my friends in the village.

a. consider b. hope c. object d. wish

12. ......... going to the library to borrow the books we need?

a. How about b. Why don’t we c. Let’s d. | consider

13. Tamer ......... early when he was young, but now he is very punctual.

a. used to arrive b. never used to arrive

C. is used to arriving d. isn’'t used to arriving

14. ltisawell ......... fact that English is used in most international conferences.

a. knowing b. known c. -knowing  d. —known

15. Which of the following isn’t punctuated correctly?

a. Wael is a 25-year-old editor.

b. The woman, who lives next door to us is going to travel abroad.

c. | bought a list of things: a bottle of milk, a packet of tea and five loaves of bread.
d. Yasser, stop making noise; you're disturbing us.
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16. A reflective essay is an essay in which the writer ......... .

a. expresses or narrates a personal experience he/she had.

b. uses evidence and facts to support the claim he/she's making.

c. examines his/her experiences in life and how they have changed or developed due to those
experiences.

d. describes something, a place for example, showing an account of a particular experience
17. Which of the following is used to complete the sentence showing result?

Samir achieved wonderful progress ......

a. as well as keeping the level of success he had reached.

b. regardless of the problems he had faced.

c. as a result, he made great efforts.

d. as a result of the great efforts he had made.

2. Read the following passage, then choose the correct answer:

Brainstorming is an activity that most of us think we’re very familiar with and know how to do.
Perhaps we don’t give very much thought to how or why we do it, but we definitely should. At its best,
brainstorming can help us to generate innovative ideas at school and at work, but at its worst, it can
be a waste of time. If you want the time, you spend brainstorming to be productive, you need to
brainstorm effectively.

You may not be aware of the fact that brainstorming, as we know it today, didn’t come into
existence until 1948. It was based around a military analogy with the idea being that the participants
in the brainstorming sessions were storming or attacking a problem in order to solve it. At that time,
the rules of brainstorming were that you didn’t give other participants any negative feedback on their
ideas, instead you tried to build on other people’s ideas with your own thoughts. The aim was to
generate as many ideas as possible and to think big.

When we investigate what makes brainstorming sessions effective, we see that it's helpful for
individual participants to think of ideas on their own first. This could be done by giving each person
some prompts to help them come up with ideas that they then write down. You could also ask
participants to do some word association by giving them a word and asking them to write other words
that come to mind when they think of that word, and then other words connected to those words, and
so on. If the participants have already focused on the topic and come up with ideas beforehand,
these ideas should be more fully formed and useful and less time will be wasted on this initial stage
during the group discussion.

Choose the correct answer from a, b, c or d:

18. According to the passage, brainstorming can be a waste of time ............... .
a. when you ignore its value, although you are quite sure it could benefit you.

b. if you give it a lot of thought.

c. if you don't like creation.

d. if you need the time you spend on brainstorming to do a more important task.
19. What is the main idea of the passage?

a. Brainstorming didn’t come into existence until 1948.

b. The value of brainstorming and how to benefit from it.

c. Brainstorming was first used in the military field.

d. Brainstorming is useful for students in all cases.
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20. According to the passage, we can give each person some prompts to ......... :

a. know what is meant by "brainstorming".

b. enable them to reach a solution on their own.

c. help them create new ideas.

d. be able to criticise other participants.

21. Initially, the participants in the brainstorming sessions ......... :

a. were attacking each other, giving opposite opinions.

b. were storming or attacking a problem to reach a solution.

c. insisted on spreading the concept of brainstorming.

d. ignored the rules of participation.

22. At first, the rules of brainstorming were thatyou ......... :

a. didn’t give other participants any destructive feedback on their ideas.

b. were free to express your opinion frankly.

c. could give other participants any negative feedback on their ideas.

d. could criticise other participants bitterly.

23. Brainstorming can help us generate innovative ideas at school and at work. “Innovative” is similar
in meaning to “.........

a. unimaginative b. normal C. Creative d. ordinary

24. The underlined word “This” refers to ......... .

a. making brainstorming useful for individuals.

b. avoiding the harm of brainstorming.

c. making individual participants think of the ideas of other participants first.

d. discussing the ideas of other participants.

25. Brainstorming came into existence .................. :

a. before 1948 b. after 1948 C.in 1948 d. in the 19" century
3. Read the following passage, then choose the correct answer:

When we look to the future and consider technology and its effects on education and employment
round the world, there are definitely reasons for optimism. It may be easier to see some of these in
parts of the world such as the Middle East, Asia and Africa where the creation of global markets for
services, such as IT, which previously didn’t exist is allowing talented individuals to have successful
careers. We see people in these regions who may not have had access to traditional forms of face-
to-face education, such as university studies, taking advantage of online courses to learn computer
science. They can then go on to develop codes and create and sell applications, none of which would
have been possible without the internet and the associated technology that goes along with it.

This phenomenon, however, isn’t only happening in the Middle East, Asia and Africa. We're also
seeing new possibilities for employment opening up in other parts of the world where a larger
proportion of the population can access conventional university education. We see companies which
allow people to make crafts at home, such as handmade jewellery, and sell those items to people all
over the world online. These people can become entrepreneurs and they’re opening up markets that
wouldn’t have existed forty years ago.

All of this suggests that young people today need to develop different types of skills than those
who came before them. They need to be able to work independently and manage their time
effectively so they can potentially do things like developing a new skill online on their own. They also
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need to learn how to present and market their work online as well as other skills that we associate
with entrepreneurship, like how to keep financial records for your business.

Choose the correct answer from a, b, c or d:

26. Students are taking advantage of online courses to learn computer science .........
a. thanks to technology.

b. despite having no access to the internet.

c. although they have access to traditional forms of face-to-face education.

d. because they are against change.

27. According to the passage, we have reasons for optimism because ......... )
a. we have education and employment round the world.

b. of the impacts of technology on education and employment round the world.
c. the creation of global markets for services didn’t exist.

d. we have access to traditional forms of face-to-face education.

28. According to the passage, creating and selling an app requires ......... :

a. only the internet. b. having a lot of money.

c. the integration of different types of technology. d. being optimistic.

29. Young people need to ......... to cope with modern life with high technology.

a. work dependently. b. develop different types of skills.

c. look for traditional jobs. d. avoid being pessimistic.

30. According to the passage, the markets for online crafts ......... :

a. require no technology to be sold. b. started to flourish forty years ago.

c. help no people to become entrepreneurs d. didn’t exist forty years ago.

31. The underlined word “phenomenon” refers to ...... :

a. the lack of online courses. b. encouraging face-to-face education.

c. avoiding the harms of technology. d. the use of technology to have employment or earn money.
32. What is the main idea of the passage?

a. The demerits of some types of technology b. Online markets

c. The importance of technology d. Face-to-face education

33. We see people in these regions who may not have had access to traditional forms of face-toface
education. In this sentence, "these regions" refers to ...... :

a. regions in the Middle East. b. regions all over the world.

C. regions in Africa. d. regions in Africa, Asia and the Middle East.

4. Choose the correct Arabic translation from a, b, c or d:

34. You can interact with society at large by volunteering with charities, community centres and other
non-profit organisations. As a result, you can assist others while also gaining valuable skills.
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35. Presidential initiatives, such as the Solidarity and Dignity and Decent Life initiatives, are expected
to significantly contribute to improving the quality of life of Egyptians everywhere, especially in rural
areas.
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5. Choose the correct English translation from a, b, c or d:
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a. Many people think that television is the most important cultural sources. It can broadcast
documentaries about Arab countries, including information about their history, civilisation, industry,
educational systems, and even customs.

b. A lot of people think that television is one of the most important cultural sources. It can broadcast
documentaries about foreign countries, including information about their achievements, civilisation,
industry, educational systems, and even customs.

c. A lot of people think that television is one of the most important cultural sources. It can broadcast
documentaries about other countries, including information about their history, civilisation, industry,
educational systems, and even customs.

d. Many people think that television is one of the most important cultural sources. It can broadcast
documentaries about other countries, including information about their location, civilisation, wealth,
educational systems, and even customs.
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a. Good health is really a precious present because it allows an individual to live without being
hampered by any health problems such as diabetes, stress and other chronic or serious diseases.
b. Good health is really a precious wealth because it allows an individual to live without being
hampered by any health problems such as diabetes, stress and other chronic or serious diseases.
c. Good health is actually a precious wealth because it allows an individual to live without being
affected by any health problems such as heart diseases, stress and other chronic or serious
diseases.
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d. Good health is actually a precious wealth because it shows an individual how to live without being
hampered by any health problems such as diabetes, stress and other chronic or serious diseases.

6. Answer the following questions :
38- Do you think Pip was right to help the strange man in the marches? Why?

39- Do you feel sorry for Miss Havisham despite her attitude towards Pip? Why?

7. Write an essay of about 180 words on :

40- “Write an email to your friend Tom, inviting him to spend a week in Egypt and telling him about
the places he could visit. Your name is Akram, and your email address is Akram 2000@gmail.com.
Your friend's email address is Tompeterof@yahoo.com.”

Final Exam (Longman 2023 GPE 4)
1. Choose the correct answer_from a, b, c or d:
1. Determination is one of the factors of success. “Determination” is similar in meaning to “...........

”

a. expectation b. imitation c. resolution d. solution

N

Ceereee are constantly searching for planets that may support human life.

. Astrologers b. Astronomers c. Archaeologists d. Psychologists

. If you are in danger of suffering from burnout, you will probably ......... stress.

. hide b. cure c.damage d. experience

. Educationists always try to ......... students’ productivity levels.

. rise b. raise c. arise d. decline

. The impressive historic sites in Luxor usually ......... more and more tourists.

. refuse b. disgust Cc. estimate d. captivate

. The crazy man killed the workerina ......... of anger.

. foot b. fit C. site d. set

. Online shopping has increased significantly; it has grown ......... .

. on the other hand b. to a minor extent c. on a bigger scale d. in addition
. I think we need to look ......... ways of cutting down pollution.

. into b. to c.in d. over

. I think more desert land ......... by 2050.

. will have been reclaimed b. will have reclaimed

. had to be reclaimed d. will be reclaiming

10. Your health seems to be worsening. You ......... a doctor at the beginning of the infection.
a. didn’t have to consult b. should have consulted

c. must have consulted d. had to consult

11. Don’t worry; only ......... coffee was spilt on the carpet.

a. little b. much c. alittle d. a few

12. It was kind of Hady to help the old man ......... the heavy bag in the street.

a. who carrying b. carried C. was carrying d. carrying

13.......... of the four children received a special gift; they were all pleased with the gifts.
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a. A little b. None c. Each d. both

14. Many years have passed ......... the last time we met in Paris.

a. since b. for c. while d. when

15. At the end of an essay, we can use “.........

a. Moreover, b. In short, c. First of all d. However,

16. A/An ......... essay is a genre of writing that requires the student to investigate a topic; collect,
generate, and evaluate evidence; and establish a position on the topic in a concise manner.

a. argumentative b. descriptive c. reflexive d. narrative

17. Which of the following doesn’t show regret?

a. | wish | had followed my father’s advice. b. I ought to have spent my money wisely.

c. | had to follow the coach’s instructions. d. | really regret starting to smoke.

2. Read the following passage, then choose the correct answer:

It's amazing and difficult to believe, but we're actually less familiar with the depths of the oceans on
our own planet than we are with the surface of Mars. Robots are now being used increasingly to carry
out the task of gathering data about the world below the waves. These specially designed robots are
able to obtain data more quickly and efficiently than human beings.

However, many of the robots, currently being used for this purpose, require batteries which run
out after a certain amount of time underwater and, therefore, they need to return to be recharged
regularly. As a result, they cannot stay underwater long enough to reach the deepest points of the
ocean, yet these tend to be the areas that scientists are most keen to learn more about.

Consequently, a lot of excitement has been produced by a technological innovation which involves
using the energy generated by the robot’s movement from warmer to colder waters and the other way
round. All the robot has to do is move through the sea and enough energy is generated to charge its
battery at no cost whatsoever, and the result is that data can be collected for significantly longer
periods of time.

It looks as though this kind of technology will increase the amount of the ocean that underwater
expeditions can investigate by allowing them to do this for much longer periods of time. Nevertheless,
scientists who like to create a map of the whole ocean still face massive challenges when it comes to
the logistics and finances that are necessary for the completion of this task. Some estimates have
suggested that even with innovations such as the one described in this text, at least 3,000 robots
would have to be in operation for a period of ten years in order to map the whole ocean.

Choose the correct answer from a, b, c or d:

18. What is the disadvantage the robots mentioned in the first paragraph?

a. They are too expensive.

b. They can work for a limited time before they are recharged.

c. They can’t work underwater to gather data about the world below the waves.

d. They cause a lot of noise.

19. The energy generated by the robot’s movement from warmer to colder waters and the other way
round ......... .

a. causes a lot of pollution. b. is bad for underwater creatures.

c. charges its battery. d. collects data about the depth of oceans
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20. According to the passage, which of the following gives the meaning of “accordingly”?

a. increasingly. b. consequently. c. regularly. d. significantly.

21. According to the passage, creating a map of the whole ocean is a big challenge because ...... :
a. scientists can'’t protect themselves from dangerous oceans creatures.

b. the sides of oceans are unknown.

c. batteries of robots can’t be recharged.

d. of the required practical arrangements and finances.

22. According to the passage, which of the following isn’t correct?

a. Some robots cannot stay underwater long enough without being recharged.

b. Mapping the whole ocean requires at least 3,000 robots in operation for a period of ten years.

c. Man can obtain data about the world below the waves more quickly and efficiently than specially
designed robots.

d. Robots are being used to carry out the task of gathering data about the world below the waves.
23. What is the main idea of the passage?

a. The depth of oceans

b. The use of robots to gather data about the world below the waves

c. The demerits of robots that need to be recharged

d. The challenges scientists face to create a map for every ocean

24. The underlined word “they” refers to ......... .

a. robots b. scientists C. ocean d. batteries
25. The underlined word “underwater”, here, isa/an“................
a. verb b. noun c. adjective d. adverb

3. Read the following passage, then choose the correct answer:

When we talk about ‘lifelong learning’ we're usually referring to studies that people undertake or
courses that they choose to participate in when they’re no longer at the age when you would expect
them to be at school or university. The idea behind ‘lifelong learning’ is that gaining new knowledge
and developing new skills is an ongoing journey and not just something that we do while we're at
school to gain specific academic qualifications. For this reason, a lot of lifelong learning is a matter of
learning something for pleasure or enjoyment. People who like visiting a particular country on
vacation might choose to learn the language of that country, so they can communicate with the locals
better on their next trip.

Often lifelong learning has a more practical purpose for the people who participate in it, however,
as it can definitely help improve your career prospects and usually also increase your income.
Similarly, the social and emotional advantages of lifelong learning shouldn’t be overlooked. If you're
feeling lonely or isolated, for example, learning something together in a group, whether it’'s on or
offline, can help reduce those feelings. Another advantage of lifelong learning though is that you can
often do it whenever and wherever you are as you can learn from books you can borrow from the
library or just have a go at painting a picture and then think of what you could improve to do it a little
better the next time.

However, people are able to learn, a great sense of achievement can be gained from setting
goals, such as being able to speak a foreign language, and then being able to achieve that goal. The
effect of achieving goals like these is to help us to feel more content.
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Choose the correct answer from a, b, c or d:

26. “Lifelong learning” is ......... :

a. a type of regular academic learning.

b. for people who are no longer at the age of normal school learning.

c. a type of private schooling with a fixed curriculum.

d. a kind of education that depends on formal governmental assessment.

27. “Lifelong learning” could be ......... .

a. a waste of time b. for getting qualifications

C. an ongoing journey d. bothaandc

28. The social and emotional advantages of lifelong learning shouldn’t be overlooked. “emotional”
is an antonym for “......

a. terrific b. social c. thoughtful d. dispassionate

29. According to the passage, which of the following doesn’t belong to “lifelong learning”?

a. It helps improve your career prospects and increase your income.

b. It helps you to get more knowledge and develop new skills.

c. Itis the same as academic learning in all aspects.

d. It could reduce the feeling of loneliness or isolation.

30. What is the main idea of the first paragraph?

a. Lifelong learning is a process of acquiring new knowledge and developing new skills outside
school with no academic qualifications.

b. Lifelong learning is a process of acquiring new knowledge and developing new skills inside school
with academic qualifications.

c. Lifelong learning is not available for all people of different ages.

d. Lifelong learning is a matter of learning something away from pleasure or enjoyment.

31. The underlined word “gaining” means “.........

a. buying b. acquiring c. beating d. giving
32.The practical purpose of lifelong learning is that ......... :

a. it has an emotional aspect.

b. it can help to reduce bad feelings.

c. it benefits your career and increases your income.

d. it helps you get a certified certificate.

33. The underlined word “content” is similar in meaning to “.........
a. Cross b. grumpy c. satisfied d. miserable

4. Choose the correct Arabic translation from a, b, c or d:

34. Reading is a vital activity for students of all ages since it exposes them to a variety of cultures and
valuable knowledge. It also makes learning a more pleasurable process.

-a lanll Jaos gl WS ¢ dogd)] 48 panlly BN (e de gie dc gaza) 0gi2y25 @Y Bpiall Hlaedl (3 Ol (Sgu> bolis 8¢l,al

-b ladl Jaxd gl WS ¢ Aoyl d8yaally ohlasdl (e de gise de gama) pgu sl dY Hlaedl juar (o MRl (S gum boLid 86,311
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35. It is highly recommended to avoid burnout because it is a health problem that is affecting more
and more people today due to the pressure of the hard work they are doing.

-3 4 Ogag U B! Jall Lass (o p 5l (oldl o jall e 5355 Ay Ao 439 Bl ity By 9092
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5. Choose the correct English translation from a, b, c or d:

36 2 O Jleedl (po wiSJ S Y U 8,S0edl 028319 bl polas e (oLl WSy Y oS0, dage Jaall § 8431 O ise
ol a1 Ll el 13

a. | think work experience is important, but we cannot ignore the enthusiasm and innovative ideas of
workers, because not many businesses can succeed if the two factors are ignored.

b. | agree that work experience is important, but we cannot overlook the enthusiasm and innovative
ideas of young people, because a few businesses can succeed if one of these factors is ignored.

c. | think work experience is important, but we cannot overlook the enthusiasm and innovative ideas
of young people. Therefore, not many businesses can succeed if one of the two factors is ignored.
d. | think work management is important, but we cannot overlook the enthusiasm and innovative
ideas of young people. Therefore, not many businesses will fail if the of these factors are supported.

37 S uid! e slosedl 4885, slaxdl Joall il e 0gayiis oleadl OBsT JMisuwd Alad dang dxdall Ol pSunndl il
Lglara) dee bl duaseid) sy Ao dcluy,

a. Summer camps are an effective way to take advantage of young people's energy and train them in
teamwork patterns and self-reliance in a way that helps build a cooperative sociable personality.

b. Summer camps are considered an effective way to take advantage of young people's time and
train them in teamwork patterns and self-reliance in a way that helps build a cooperative social
personality.

c. Summer camps are considered a new way to make use of young people's time and train them in
teamwork patterns and self-reliance in a way that helps build a strong and social personality.

d. Youth camps are an effective way to make use of young people's time and train them in teamwork
patterns and self-denial in a way that helps build a cooperative social personality.

6. Answer the following questions :
38- What might have happened if Miss Havisham’s fiancé had been faithful to her?

39- Do agree that Mr Joe played a role in changing Pip’s character? Why?

7. Write an essay of about 180 words on :
40- “Your role model in life.”
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